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A complete flower, such as we find in buttercups, lilies and geraniums, is also called a
perfect, or bisexual flower, because it has both stamens, or male elements, and pistils

or female elements.

1- According to the text, a complete plant is the one which ....... :

1) is a subfamily of buttercups
2) has both female and male elements
3) has no stamens but in has pistils

4) has no pistils but it has stamens

From the archaeological evidence, southwestern Asia-including most of what is now
called the Middle East-seems to have been the earliest agricultural focus. This region
was the homeland of wheat and barley and of the chief old World domestic animals
and the site of the invention of the plow.

2- The text implies that ....... in the Middle East for the first time.

1) barley and wheat were cultivated
2) all inventions were developed
3) old domestic animals were never used

4) archaeological excavations were conducted



P ————

For a long time breeders and scientists have tried to make new varieties of animals
and plants appear with greater frequency than by nature's slow mutation rate. The
most successful known method used to produce mutation is by radiation.

3- Although many methods have been developed to accelerate the planting

growth, the ........ bas proven to be more effective.
1) atomic method 2) scientific method
3) slow mutation 4) frequent reproduction

The leaves of most of the perennial broadleaved trees are shed in the fail. In certain cases leaves
are shed more or less continuously throughout the year. Each leaf falls after it reaches a certain
age, which may range from one year to five, depending on the species.

4- One tends to understand from the above text that leaves ........ :
1) fall only in the fall
2) of certain species fall in the fall
3) fall only when their lives are over

4) of all trees fall once a year
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The leaves of carnivorous plants trap hold and digest insects and other small animals.
Carnivorous plants are found chiefly in bogs, sandy areas and tropical rain forests. In
such areas nitrogen and various other essential food elements are likely to be present

only in small amounts.

5- According to the text, carnivorous plants liveon ........
1) tropical plants
2) tiny animals
3) plants with nitrogen in their structures
4) digestible food elements in sandy areas

The vegetative organs-roots, stems and leaves-are in dispensable to man. They support
the growth of fruits and seeds, which we use as food and for various industrial and
medicinal purposes. But this is only a part of the story. The vegetative organs
themselves serve us in so many different ways that we can list only a small fraction of

their uses here.

6- The text implies that vegetative organs ........ :
1) are used for various purposes
2) are only used for medicinal purposes
3) serve human beings in their industrial concerns

4) have their own lives independent of those of humans
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Many problems confront the farmer after he has made his decision to irrigate. First, of
course, he must decide on the most suitable method of irrigation for his land, he may
have to use more than one irrigation method. This is because different crop require

different irrigation systems and the land is seldom planted to a single crop year after

year.

7- The author believes that ........ .
1) farmers can hardly solve the problem of irrigation
2) irrigation systems need to be developed year after year
3) to produce crops, year after year, irrigation systems should change
4) no single method of irrigation is good in all cases

In plants, as in animals, growth is a cellular process. It involves the production of new
cells from pre-existing ones, the enlargement of newly formed cells and, finally, the
differentiation of enlarging cells into the mature tissues of the body.

8- The text implies that plants and animals grow in a similar way since they all

follow the ...... process.

1) body to cell 2) cell to body

3) non-existing to existing 4) existing to non-existing
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The yeasts, which are one-celled fungi, are responsible for industrial alcoholic
fermentation. They derive the energy for their growth and reproduction from their
anaerobic breakdown of sugar.

9- According to the text, the anaerobic breakdown of sugar is ........

1) a kind of one-celled fungi

2) responsible for making alcohol harmful

3) the outcome of alcoholic fermentation

4) the major cause to the activization of yeasts

There are several types of flood irrigation. In 'basin irrigation® water is quickly pounded on a
flat area surrounded by little dikes. A large quantity of water is used, and it continues to
percolate into the soil for some time after the supply is shut off. This method is especially

suited for or chares where several trees may be included in one, basin.

10- The significance of the basin irrigation system relies in the fact that ...... .

1) itis surrounded by little dikes

2) water is supplied in one basin for ever

3) water penetrates the soil gradually

4) it requires less water supply than other systems
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One result of the investigation of plant hormones was the discovery of the importance of
antimetabolites, chemicals that keep living organisms from growing. The powerful weed
killer aminotriazole is an antimetabolite. So, it has turned out, are the famous "sulfa"
drugs, which interfere with the metabolism of germs.

11- According to the text, both "sulfa" drugs and aminotriazole are .......

1) weed killers

2) plant hormones

3) the results of metabolic activities

4) chemicals that help weeds grow faster

The use of farm products and even farm wastes for industrial purposes has been
powerfully advanced by the rise of chemurgy-chemistry applied to agricultural raw

materials. The word chemurgy was coined in the 1930's by Dr. William J. Hale a

Michigan research chemist, who is credited with being the father of chemurgy. But the

beginnings of this science go back to the previous decade.

12- The text implies that chemurgy ....... :

1) is a waste product of chemical plants

2) is the science of using raw materials in industry

3) developed when farm wastes needed to be moved away

4) existed years before Hale coined the word



The plant does not necessarily begin to flower after a certain quantity of food reserves
has accumulated. Many plants require exposure to certain definite temperatures, or
photoperiods, or both, before they can form flowers. For example, winter-wheat plants
and apple trees must have at least a brief exposure to low winter temperatures before
they can flower normally.

13- According to the text, the majority of plants will flower if and only if they .....

1) accumulate a certain amount of water

2) are exposed to appropriate temperatures

3) get access to a certain quantity of food reserves

4) are irrigated appropriately at the right time

Since light is essential in photosynthesis. It is an all-important factor in plant growth.
Most plants cannot live long in the absence of light, for under such conditions they
manufacture no food and therefore starve. Plants that are kept for a time in darkness
or in very dim light develop long and weak stems.

14- From the above text. One comes to understand that ........

1) the less light there is the longer the stems are

2) in the photosynthesis process, light plays little role

3) the more light there is the longer the leaves will be

4) in the absence of light, photosynthesis takes place faster
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Both plants and animals possess the property of irritability: that is, they are sensitive
to various factors of the environment, and they can react to these factors by a series of
movements. In some ways, such reactions are quite similar in plants and animals.

15- The beginning and the end of this passage supports the notion that ...... the

environmental factors.

1) only animals react negatively or positively to
2) plants but not the animals are sensitive to
3) animals which are irritable react positively to

4) both animals and plants affect and are affected by

The first real cultivation was probably incidental and casual, begun by people having
no notion that they were embarking on a momentous phase of cultural evolution. It
was during the Neolithic period that the actual change from hunting and gathering to

food production, the so-called Neolithic revolution, occurred.

16- Neolithic revolution refers to an era in which human beings .........
1) incidentally started gathering foods
2) began to actually ignore hunting for ever
3) thought of crop production rather than hunting animals

4) gathered together to develop methods of cultivation



In spite of the fact that agricultural production suffers from a lack of good soil, excess
soil salinity, abundant insect pests, and climatic vagaries agriculture is the principal
economic activity in Iran.

17- It seems that the author never expected Iran to be an agricultural land Since

itenjoys ......... .
1) no economic principles 2) no fertile agricultural land
3) the shortage of good soil 4) abundant insect pets

Many of the foods stored in plant tissues as the products of photosynthesis have a complex
chemical structure or are insoluble in water. Therefore they cannot be quickly or easily utilized
to provide energy or to build new tissue. They must first to converted into simpler foods or into
water soluble foods by the metabolic processes called digestion.

18- In order for the food reserves to be digestible and thus giving energy to

plants. The products of photosynthesis ........... .

1) should be utilized quickly

2) should be soluble in water

3) must be stored in plant tissues

4) must be converted to complex structures

In addition to cereal crops, Iran produces vegetables, fruits, and nuts, Isfahan is
famous for its melons. Pistachios, peaches, apricots, grapes and cherries are raised in

various parts of the country. Citrus fruits are grown along the Caspian coast, and dates
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are raised along the Persian Gulf. Fruits and nuts are important among lran's
agricultural exports.

19- According to the text, the following agricultural products grow in the

respected areas in Iran as follow ......... .

1) dates in the North; apricots in the west
2) pistachios in the North; citrus fruits everywhere
3) melons in the Center; dates in the South

4) nuts in the North; citrus fruits in the center

After the tie of Columbus, world agriculture exhibited a rapid interchange of crop
plants and farm techniques as a result of overseas exploration and colonization. As
contacts multiplied, world agriculture was transformed.

20- The author believes that overseas explorations led to the ........ :
1) rapid growth of agricultural demands everywhere
2) exhibition of agricultural products world widely
3) rapid change of life from hunting to farming
4) development of agricultural techniques

21- In principle, frozen food is ...... because its moisture is immobilized as ice

frozen.

1) dehydrated 2) transpired 3) hydrated 4) vaporized
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22- There is a possibility that when canned foods are stored for a long period a

slow ............ process will occur and the content of thin and iron in the food will
increase.
1) corrosion 2) damage 3) impairment 4) spoilage

23- It can be calculated that only between 5 and 20% of the nutrients fed to

livestock are eventually recovered for human .... in the form of meat or milk.

1) infection 2) feed 3) food 4) consumption

24- ... refers to the power of a test, experiment or instrument to detect

deviation from some hypothetical value.

1) significant 2) sensitivity 3) stimulus 4) standard

error

25- The fraction of the emitted light of a given wave length which is not reflected

or absorbed, but passes through a substance is known as .......... :

1) emission 2) reflection

3) optical density 4) transmittance

26- Species of the genera Penicillium, Aspergillus, Rhizopus and Botrytis are

frequently implicated in food ........ :

1) fermentation 2) preservation

3) restore 4) spoilage
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27- Flocculation may be defined as ........ .
1) building of microfloc 2) building of microfloc
3) highly soluble macromolecules 4) highly dispersive macromolecules
28- A consumer can realize the ........ of fruit measured physically be compression.
1) chewiness 2) grittiness
3) firmness 4) stickiness
29- The transfer of microorganisms from one food to another through a nonfood

surface such as equipment, utensils, or human hands isknown as ........ .

1) cross-contamination 2) inoculation
3) infection 4) over sanitation
30- iIs a word to describe a system of sanitary principles for the

preservation of health.

1) Sanitation 2) Prevention

3) Hygiene 4) Decontamination
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Part A:

Directions: In this part of the test each, item consists of an incomplete sentence.

Below the sentence are four choices, marked (1), (2), (3) and (4). You should find

the one choice which best completes the sentence. Mark your choice on the

answer sheet.
1- The accused man was .............. by the jury.
1) condensed 2) inherited
3) inclined 4) condemned
2- After a long and heated negotiation they decided to .............. the terms of the
agreement.
1) theorize 2) transmit
3) modify 4) mobilize
3- That natural history museum ............... two floors to animal exhibit.
1) devotes 2) disarms
3) disregards 4) declines
4- The enemy ............. before the advance of our solcliers.

1) retreated 2) remarked 3) reproduced 4) regulated
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5- The children had quarreled but were soon .............. :

1) reduced 2) reconciled 3) rejoined 4) recognized

PartB
Directions: In each of the following sentences, four words or phrases have been
underlined. You should choose the one word or phrase that would not be

appropriate in stancland written English. Mark your choice on the answer sheet.

6- Most bahies will grow up to be as cleverer as their parents.

\ At Y ¢

7- watchins children play, | decided that if one presents young children with the
| Y

components of games, they will generate game themselves.
¥ ¢

8- Muslim jurists and scholars have proclaimed that good intention change acts of
) Y ¥ ¢

habit into acts of Worship.

9- Some phitosophers believe that right and wrong can by decided by reason; other

! Y v

maintain that it is a matter of feeling.
¢

10- History can be simply defined as account of facts or events, especialty in the life-

\ A\t

development of rnen and nations, in the order of their occurrence along with their
¥ £

causes and effects.



Part C: Reading Comprehension

Directions. Each selection is followed by questions about the meaning of the
material. You are to choose the one best answer to each question from the four

choices given.

Some psychologists maintain that mental acts such as thinking are not performed in
the brain alone, but that one's muscles also participate. It may be said that we think
with our muscles in somewhat the same way that we listen to music with our bodies.
You surely are not surprised to be told that you ustialtry listen to music not only with
your ears but with your whole body. Few people can listen to music that is more or less
familiar without moving their body or, more specifically, some part of their body. Often
when one listen to a syrnphonic concert on the radio, he is tempted do direct the
orcheitra even though he knows there is a competent conductor on the job.

Strange as this behavior may be, there is a very good reason for it. One cannot derive
all possible enjoyment from music unless he participates. So to speak, in its
performance. The listener "feels" himself into the music with more or less pronounced
motions of his body.

The muscles of the body actually participate in the mental process of thinking in the

same way, but this participation is less obvious because it is less pronounced.
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11- Some psychologists maintain that thinhing is ................ :

1) not a mental process

2) a process that involves the muscles as well as the brain

3) more of a physicai process than a mental action

4) a process that involves our entire bodies

12- The processes of thinking and that of listening are similar inthat ............ :

1) both processes are perfobrmed by the entire body

2) we derive equal enjoyment from them

3) both are mental acts

4) muscles parlicipate in both processes

13- Few people are able to listen to tamiliar music without ............. :

1) moving some part of their body

2) stopping what they are doing to listen

3) directing the orchestra playing it

4) wishing that they could conduct music properly

14- Body movment are necessary in order for the listener to ........... :

1) hear the music 2) appreciate the music

3) enioy the music fully 4) completely understand the music
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15- According to the selection muscle participation in the process of thinking is

1) not readily apparent 2) very pronounced

3) deliberate 4) obvious

16- Which of the following pairs are synonyms?

) Elastic, crisp 2) Fibrous , smooth

3) Mealy, chalky 4) Tough, Tender

There are two methods most commonly used for the demineralization of whey-ion
exchange (IE) and eleitrodialysis (ED) which results in products of sornewhat different
composition. (IE) is relatively non selective and removes both monovalent and
polyvalent ions, whereas the latter is more dependent on ionic mobility and remove
monovalent ions. Both systems produce effluent at least equal in volume to the
quantity of whey processed.

17- According to the text, the outcomes of IE and ED methods lead to ............

1) monovalent ions 2) polyvaieni ions

3) similar compositions 4) various compositions
18- Electrodialysis................ ions.

1) removes almost any type of 2) removes only one type of

3) processes only polyvalent 4) processes the exchanging of
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Skimming efficiency is assessed as the fat content of the skim milk. If the skim milk. If
the skim milk is merely going to be remixed with cream to produce milk with a
standard dised fat content, then the skimming efficiency is not so vital. If the skim milk
is to be converted into skim milk powder or casein, then it is important that the fat

content be low, to meet the various specification and functional requirements of these

products.

19- the skimming efficiency is assessed hy ................. content of skim milk.
1) casein 2) fat
3) mineral 4) SNF

20- The text implies that to produce milk powder, the .............. .

1) fat content should tre low

2) fat content must be standard

3) requirements must be specified

4) milk efficiency should be increased

In practice, a higher temperature can lead to disruption of fat globules and this has a
very major efftet on the rate of separation. Fat losses in skim milk where slightly
higher with a separation at 72°c than with a separation at 74.5°c, but separation at
32°c gave a higher fat loss than separation at 54.5°c or 72°c.In practice most plants
have settled on temperatures 50- 55°c and around 50°c as being optimal for

skimming efficiency. Separation temperature can have an effect on free fat levels.



21- The rate of lat separation increascs if ........... .

1) milk molecules are disintangelled

2) free fat levels are lowered

3) fat globules are more condensed and compressed
4) distribution is envigorated by high temerature

Tuberculosis and brucellosis are two most human diseases spread by the consumption of
contaminated raw milk, raw milk from healthy cows should give rise to a low total count
and be free of serious pathogenic organisms, Microbiology of raw milk reviewed by

Bramley and McKinnon (1990) states that initial counts range between less than 10° ml,

indicating minimal contamination, to greater 10°ml*. Counts of greater than 10°ml are
indicative of serious faults serious faults in production hygiene, whereas consistent counts
less than 10*ml * reflect good hygiene.

22- Good hygiene counts are .............. :

1) less than 10*ml 2) less than 10°mi

3) greater than 10°ml 4) 10*ml exactly

23- According to the text, experiment show that, in some people, the cause to

tuberculosisis.............. .

1) unboiled milk 2) contaminated milk

3) poor hygiene 4) pathogenic organs
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Whey may be defined, as the serum or watery part of milk remaining after separation
of the curd that results from the coagulation of the curd that results from the
coagulation of milk by acid or enzymes. Its composition will vary on the variety of
cheese produced or the method of casein manufacture.

24-"Whey" is defined as ............... :
1) cruds being activated by acid enzymes
2) composition of manufactured casein
3) cheese mixed with serum or water
4) part milk which results from coagulation
25- In this paragraph, "its" refers to .............. .
1) acid enzyme 2) coagulation 3) separation 4) whey

In general, whey's produced from rennet-coagulated cheeses develop low levels of
acidity, whereas the production of fresh acid cheeses develops acid or acid whey.

26- The text implies that rennet-coagulated cheeses lead to ........... .
1) acids 2) fresh acid cheeses

3) low acidity 4) whey
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It should also be noted that there are considerable differences in heat stability
between milk from different animals. Furthermore, the microbial quality of raw milk
has a pronounced effect on the quality of the final product.

27- The text suggests that the heat stability of milk ............. :
1) varies from animal to animal
2) is almost equal in all milk products
3) has no impact on microbial quality
4) increases if the milk curd is softened

28- According to the text, what determines the quality of the final product is the

1) heat stability 2) microbial quality

3) milk quality 4) milk quantity

It is well known that good quality milk can withstand high processing temperatures

without coagulating. Typical milk is stable for several hours 100° ¢ and for about 20 minutes

at 140°c. Coagulation rarely occurs, but it is well known that heat exchangers are

susceptible to the deposition of milk solid and associated fouling problems.
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29- Coagulation is the process of ................
1) separating water from the milk curds
2) decomposing of milk into other particles
3) changing from a liquid to a semi-solid state
4) heating a solid so that it becomes a liquid
30- The degree of milk's resistance to temperature depends the ........ :
1) influence of exchangers 2) quality of the milk

3) deposition of milk solid 4) size of the milk container
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Part A:
Directions: In this part of the test, each item consists of an incomplete sentence.

Below the sentence are four choices, marked (1), (2), (3) and (4). You should find

the one choice which best completes the sentence. Mark you're on the answer

sheet.
1- Nicole has always shown a remarkable .......... for becoming a great cook.
1) affection 2) aptitude 3) attitude 4) attraction
2- The administration was voted ........ power by seventy percent of the people.
1)in 2) into 3) onto 4)to
3- Many of the dictionaries we use today have been ......... , from larger books.
1) abridged 2) extracted 3) made up 4) summarized
4- The dictator ............... absolute power.
1) assigned 2) associated 3) assured 4) assumed
PartB

Which of these sentences are ungrammatical?
5-
1) During times of economic hardship people may have to emigrate from their

native land.

2) John was formerly a member of that club, but he resigned.
3) When one has a toothache, you should go to the dentist.

4) We certainly hope that prices do not rise so quickly, again.



o-
1) In my opinion, an adult who steals from children is worse than an ordinary thief.
2) It probably would have been more sensible to turn back.
3) She is one of those people who always know what is best for everyone.
4) The other boy, confused by my statement, admitted breaking the window.
7-

1) How he managed to escape is still an unsolved mystery.
2) After a bit of persuasion, he gave us permission to use his garage for our rehearsals.
3) The main purpose of the display is to attract new customers.

4) The subject that was signed to him was one about it he knew little or nothing.

Part C: Reading Comprehension
The selection is followed by questions about the meaning of the material. You are to

choose the one best answer to each question from the four choices given.

Spring, summer, autumn, winter, every season there is new clothes and new fashions in
the shops. Colors and styles keep changing. One season black is the ‘in' Color, but the
next season everyone is wearing orange or pink or grey. One season tight-fitting
clothes are fashionable, and the next season haggy clothes are "in’.

The length of women's skirts goes up and down from year - to year. In the 1960s,

miniskirts became very fashionable and a woman could wear a skirt twenty or thirty
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centimeters above the knee. A few years later, maxi skirts became trendy and then you
had to wear skirts twenty or thirty centimeters below the knee. Each season there is
always a 'correct’ length and if your skirt is just a little too long or too short some
people will think that you are very unfashionable.

Men have similar problems with their shirts. Some years it is fashionable to wear very
small collars. Another year small collars become out- dated and large button-dowry,
collars are trendy. Sometimes it even becomes fashionable to wear shirts with no collars
at all. A shirt that you once thought was very trendy can look strangely old- fashioned a
few years later. And your father's shirts which you always thought were very conservative
and traditional can suddenly seem very stylish.

Keeping up with the fashions can be very expensive. so one way to save money is never
to throw your old clothes out if you wait long enough. The clothes that are out of
fashion today will be back in fashion tomorrow. Yesterday's clothes are tomorrow's

new fashions.

8- Tight-Fitting clothes are .............. .
1) sometimes unfashionable 2) never fashionable
3) always in fashion 4) always conservative

9- The fashionable for a woman's skirt dependson .......... :
1) the year 2) the woman's height

3) the color of the skirt 4) the way she thinks



10- It's good idea to keep your parents' old clothes because ..........

1) Itis always trendy to wear old- fashioned clothes
2) this will help you remember them

3) they are conservative

4) the style might be 'in" again in a few years’ time

A sports car is a high- performance roadster, built to stick to the road even on curves that
throw ordinary cars onto the shoulders. A manual gearshift, a firm- some would call it
rough- ride, and powerful brakes are the features which generally characterize the sports
car; yet the fans often disagree about a particular car's qualifications. Nothing irks a
purist more than hearing the words "sports car" applied to an ordinary soft- sprung
roadster or to a closed car.

Fun, not transportation, is the main idea behind sports cars. They are, quite simply, a pleasure
to drive- sensitive and responsive for a man with mechanical ability. They also are fun to work
on. A mass of technical information is available to the owner. Easily accessible, and with such
features as overhead valves the sports car engine is "built to be worked on." The majority of
owners probably do their own tuning and puttering.

Many sports cars are tame enough for ordinary city driving. Owners point out these
distinct city advantages: economy of fuel and garage space, and ease of handling in

traffic and in parking.
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11- sports car fans ......... .
1) are puritans
2) are quarrelsome
3) always agree about what a sports car is
4) don't always agree on which cars quality as sports cars
12- The chief attraction of a sports car is in providing ............... .
1) easy parking 2) fun for its owner
3) cheap transportation 4) work for mechanics
13- Owners of sports cars derive driving pleasure from their auto’s .......... .
1) sensitive responses 2) roominess
3) inexpensiveness 4) ability to win races
14- probably most owners of sports cars are .............. .
1) economical 2) lacking mechanical skills
3) mechanically inclined 4) poor drivers
15- Sports car owners agree that sports cars are .......... :
1) unpopular with city drivers 2) too fast for highways

3) advantageous to city drivers 4) too fast for city driving
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Most films used for preservative packaging's are not composed of a single plastic but
are laminates of two or more materials. The number of components is increased when
adhesives are used to bond the plastic layers. Multilayered structures can give
materials with a range of functional properties unattainable with a single plastic. For
example, pouches for preservative packaging will commonly be composed of a central
gas barrier layer (e.g. polyvinyledene chloride, PVDC), an inner layer with good sealing
properties (e.g. polyethylene or ionomer and a damage-resistant outer layer) (e.g.
nylon) other desirable qualities. Such as shrink ability. Resistance to deformation,
clarity, antilog capacity, etc, may be catered for by appropriate construction of the
laminate.

16- The text implies that ............. .

1) It is not common to use ionomer as the outer layer

2) plastic layers used in preservative packaging are adhesive

3) pouches with certain functional are desirable packaging materials

4) using polyvinyledene chloride will lead to improved damage- resistant property
17- The preservative packaging with functional properties ............. .

1) can be attained with a single plastic material

2) may have a layer which prevents gas exchange

3) should perform a desirable deformation

4) should contain a layer which is easily damaged
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18- Most films used for preservative packaging contain ............... .

1) a mono-layer laminate
2) asingle layer of plastic
3) only a laminate of two materials
4) a combination of plastic and materials
19- Which of the following is correct?
1) Adhesives can act as plastic layers
2) Nylon has a good sealing property
3) Polyvinyledene chloride is not damage- resistant
4) Appropriate laminates have already been prepared for clarity

Before embarking on the subject of quality it is necessary to be clear that the quality of
a food product is determined by its taste, digestibility, palatability and tenderness. As a
result of the action of freezing and defrosting, textural changes and food tissues
become more porous, thus offering greater mechanical opportunity for microbial
invasion. Thawing involves the changes encountered during freezing, in reverse
direction. One may mention increases in fluidity and in the resulting properties, such
as infusibility and rate of heat transfer. The loss of quality in frozen food such as
meats, vegetables and fruits on thawing is caused by drip, Oozing and wilting or

flabbiness, respectively.



20- The loss of qualify of frozen vegetables on thawing shows up as ............
1) oozing 2) dripping
3) loss of wilting 4) loss of flabbiness
21- Which of the followings takes place as a result of physical damage during

defrosting of meat?

1) Dripping 2) Flabbiness

3) Oozing 4) Wilting
22- Defrosting of frozen food causes a/an .............. .

1) increase in viscosity

2) increase in molecular mobility

3)decrease in tenderness

4) decrease in the rate of heat transfer

In many developing countries, food processed by traditional methods is extremely popular
and continues to be a major source of inexpensive, dietary protein. This popularity is in part
due to the chemical changes which occur during smoking and drying processes. The
chemicals produced are, responsible for the products' characteristics and desired flavors.

Prolonged or repeated heating of meat at a temperature higher than 90° C result in hydrogen
sulphide production. The water-soluble proteins of meat contribute 71% of the H,S while salt-

soluble proteins generate insignificant amounts. The production of H,S during severe heating
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is not only significant in flavor deterioration but also indicative of a reduction in cysteine

availability.
23- As a result of .......... Heating of meat at temperatures above 90°C, H,S is
produced.

1) extended 2) slow 3) fast 4) decreased

24- What happens to the food during smoking and drying?

1) It becomes tasty 2) It becomes edible

3) It becomes extremely 4) Chemical changes

25- What kind of food products in developing countries is commonly liked? Food

products processed ............ :

1) processed from popular food

2) processed from traditional food

3) by the new methods

4) by traditional methods

Direct food additives may be classified according to the effects they are intended to
achieve. In many instances they serve more than one function. Spices, for example,
impart flavor and aid in preservation and ascorbic acid (vitamin C) serves as both a

nutrient and a preservative.



faster than foods with additives.

1) cooked 2) processed 3) smoked 4) spoiled
27- 1t refers to any substance introduced into food for some useful purpose,

whether or not it is intended to become a component of the final product.

1) Sophisticated substances 2) Food Additive
3) Commodities 4) Luxuries
28- Monoglycerides and diglycerides are .............. agents used to maintain the

crumb texture of bread.

1) cross sectioning 2) encapsulating
3) emulsifying 4) perpetuating
29- Lubricants for food-processing machinery, baking pans and confectioners’

slabs are examplesof ............... :

1) anticaking agents 2) defaming agents
3) incidental additives 4) polyglycol esters
30- Modern bread making requires elasticity of dough. To achieve this flour must

be ............. by means of oxidizing chemicals.

1) matured 2) emulsified 3) crystalized 4) contaminated
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Part A: vocabulary
Directions: In questions, each Item consists of an Incomplete sentence. Below the

sentence are four choices, marked (1), (2), (3), and (4). You should find the one choice

which best completes the sentence. Mark your choice on the answer sheet.

1- As he became more famous. It was more difficult for him to .............. newspaper
reporters.
1) avoid 2) regret 3) realize 4) settle

2- "1 wonder where all those people are going?"

"Perhaps something s ............... in the town center.”
1) getting up 2) growing up 3) going on 4) taking up
3- The service in that restaurantwon't ........... iIf nobody ever complains.
1) cure 2) Improve 3) manage 4) practice
4- | suppose ......... start that composition. | can't put off doing it any longer.
1) It's rather 2) I'd better 3) I'd prefer 4) I can't help
5- "Why Is John's mother ............ him?"

" He hasn't done his homework, nor does he Intend to."

1) afraid of 2) Interested In 3) satisfied with 4) upset with
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6- He presented a strong case, but | wasn't ............... convinced that all his facts
were right.
1) entirely 2) freely 3) seriously 4) terribly

Part B: Grammar

Directions: In question 7-9 each sentence has four underlined words or phrases

marked (1), (2), (3), and (4). Identify the one underlined word or phrase that

must be changed in order for the sentence to be correct. Then, mark answer

sheet.

7- | strongly recommend that you consider the matter carefully before to make a
| \ ¥ ¢

decision.

8- She was concentrating so hardly on her book that she didn't hear me come into the
3 Y v

¢
room.

9- She pa&cked an umbrella and a co*uple of thick sweaters so as to be prepared for the
¥

Britain winter.
¢

Part C: Reading Comprehension

Directions: In this part of the test you will read a passage followed by 6
guestions about it. For questions 10-15, you are to choose the one best answer, (1),

(2), (3), or (4), to each question. Then mark Your answer sheet.



P ————

In 1972 the Australian government introduced a quota system which allowed a certain

number of kangaroos to be killed or ‘culled’ every year. Legislation was introduced
because farmers claimed that the kangaroos were ruining their crops. The problem is
that while two and a half million kangaroos can be killed legally each year, a further
two and a half million are killed illegally. The animals are killed for a variety of
reasons. The main one, however, is that kangaroo meat is sold for human consumption
- usually in the form of steaks - or is used as pet food. There are also thousands of
dollars to be made from the sale of their skins.

The environmental group Greenpeace and Australia's Animal Liberation (AAL) are now
campaigning for a ban on the sale of all kangaroo products. They hope that this will stop
unscrupulous farmers killing the animals for profit. A spokesperson for AAL said, "people
aren't concerned because there are still over six million kangaroos in Australia so they are
hardly an endangered species." People just don't care about Issues like this unless there is
a real threat. But we know certain types have already become extinct In, some areas. We

must act now before it is too late.

10- Every year about ............... million kangaroos are killed In Australia.
1) eight and a half 2) five
3) six 4) two and a half

11- The government allowed the killing of kangaroos to ................. .

1) sell their skin 2) save the environment

3) protect the crops 4) use their meat



12- People don't care about the killing of kangaroos because ................. .

1) the government is going to stop it

2) just a few of them are killed every year

3) there are still too many of them in Australia

4) they like the steaks made from kangaroo meat

13- It can be inferred from the passage that the farmers' real reason for the

killing of kangaroosis to ................ .

1) make more profit 2) save certain types of them

3) use their meat for pet food 4) stop them ruining farming crops

14- According to the passage that people usually take such Issues seriously ........... :

1) because they are unscrupulous 2) When It is too late to do anything

3) because kangaroos are In danger 4) certain types have become extinct

15- The killing of kangaroos cannot be stopped unless .............. .

1) people take the issue as a real threat

2) they stop ruining the farmers' crops

3) the government cancels the quota system

4) the sale of all kangaroo products is banned
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16- Since foods, in general, are not easily classifiable into solid and liquid, they

aresaidtobe.............. .

1) elastic 2) viscoelastic 3) viscous 4) Plastic

17- What is the missing word in the center of the diagram?

1) Assembly Mixing with Saliva thermal

Sensatinns Auwdilory cues

2) Rheology @ —?_13
© i Texture
S:ructul‘e

_.—-"—'_'_/l’/ I

Psychopliysics

3) Viscosity

4) Valency

Formulation of a food product specifies the molecules that go into it. Processing of
these molecules leads to the formation of structures. Not all foods are processed
beginning with pure components. In fact most food products have their origin in the
animal and vegetable kingdom.

18- To determine the structures of food products .............. :
1) the vegetable ingredients should be measured carefully
2) components should be checked against animal materials
3) specific inactive molecules should be disintegrated

4) the type and number of molecules that go into it should be determined
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This is not to say that one cannot gain insights into the textural characteristics of
foods through the study of the microstructure and/or theology of food products.

19- The statement can be paraphrased as follows:

1) The study of microstructure of food products can help us know the

characteristics of food.

2) By theology of food products one cannot gain insights into the textural

characteristics of food.

3) No textural characteristics of food can be traced through microstructure

analyses.

4) No one can gain insights into textural characteristics if one doesn't go

through micro analysis.
In an ideal elastic solid the deformation (strain) occurs instantaneously when the
stress is applied. and it disappears instantaneously when the stress is removed and the
original shape is regained.

20- The text states that .............. :
1) no elastic material will regain its original shape.
2) elasticity of solid materials provide the ideal situation.
3) deformation is the last process which may sometimes occur.

4) elastic materials go back to their original shapes after the force is removed.



P ————

L

21- The word "instantaneously” (line 1) is closest in meaning to ............. .

1) accurately 2) permanent 3) immediately 4) temporary

22- The word "perpendicular” (line 3) is closest in meaning to ............. :

1) backwardly 2) circular

3) top-down 4) tangential

23- According to the text, if the stress is exerted such that it touches the outside

of the cub but does not cross it, itissaidtobe ........... .

1) normal stress 2) normal volume

3) shear volume 4) shear stress

Barbecue Sauce is chosen here to illustrate key aspects of texture and theology
interrelations. Clearly the Comments are widely applicable to other products as well.

24- The researcher believes that the results he has achieved .............. .

1) are generalizable to other cases as well

2) can be replicable if conditions are met

3) are widely applicable in any field of science

4) will help improve the quality of barbecue sauce



25- Which statement represents best the figure shown above?

In this experiment, ................

s

1) X - pressure results if d-value is added to t,
2) the effect of t_on the cub is paralyzed by another t,

3) the unit cube is sheared so that it is no longer a cube

4) t_ pressure is exerted on one side of the cube

26- The above diagram shows the process of ............ :
1) simple elongation in deformation in solids
2) simple shear in the formation of solids
3) doubling the sizes of molecule infrastructures
4) dissecting a molecule of solid food using X-rays

When the applied stress exceeds the yield value the original shape is not regained after
the removal of the applied stress and a plastic deformation is exhibited which involves

some structural breakdown.



1) diagonal pressure 2) excessive stress

3) small stress 4) vertical pressure

In the industrial context the ultimate judge of the texture of food product is the
consumer. The consumer is the best source of information concerning the acceptability
or liking of the food product texture. However, the consumer may not be able to give a
lot of detailed diagnostic information regarding the various components of texture.

28- The word "ultimate’, (line 1) is closest in meaning to ........... .
1) essential 2) final 3) original 4) primary
29- The text implies that the information obtained from food consumers.............. :
1) should be disregarded since they are not reliable
2) will be good sources for diagnosing the deficiencies in foods
3) can help the managers reevaluate their products
4) can easily show whether the foods are contaminated or not .
30- The case of non - Newtonian fluids is handled by the definition of apparent

viscosity as ........... where the apparent viscosity is a function of the shear rate.

Dt =n(co)g 2)t =ng It_=E( - ) 4)t_=G(x/d)
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Part A: Vocabulary

Directions: In questions I-6, each item completes of an incomplete sentence.

Below the sentence are four choices, marked (1), (2), (3), and (4). You should find

the one choice which best completes the sentences. Mark your choice on the

answer sheet.

1- The Olympic Games were very ....... Everything went according to the plan.

1) attended 2) contained 3) organized 4) prepared
2- | really enjoy being with my father. Hers got a really good ......... of humor.
1) feeling 2) mood 3) method 4) sense
3- The police officer ............. Mary that the car she was driving had been used in a

robbery two weeks ago.

1) described 2) informed 3)explained 4) ordered
4- her children look very healthy, because she's careful to give them ........ food.
1) nutritious 2) precious 3) routine 4) supplied

5- taxis don't follow any schedule; they come and go ............... :

1) at random 2) by order 3)inlies 4) in groups
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6- Could you turn down the TV? | have to do these problems today and | am
trying to .............. .

1) consult 2) conclude 3) conserve 4) compensate

Part B: Grammar

Directions: in questions 7-9 each sentence has four underlined words or phrases

marked (1), (2), (3) and (4). Identify the one underlined word or phrase that

must be changed in order for the sentence to be correct. Then, mark your

answer sheet.

7- Jack and Mary smith and their children were the car heading for the countryside

\ A\t

collecting wild mushrooms and to have lunch on the beach.
v ¢

8- Some people say that drinking out of the wrong inside of a cup can help to stop you
) Y ¥ ¢

hiccoughing.

9- The Sahara Desert is a vast waterless area where runs from east to west across
| Y v ¢

Africa.
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Part C: Reading Comprehension

Direction: In this part of the test you will read a passage followed by 6 questions

about it. You are to choose the one best answer, (1), (2), (3), or (4), to each

guestion. Then mark your answer sheet.

Most Scientists reckon that by resting our bodies, we allow time for essential maintenance work
to be done. Any damage can be put right more quickly if energy isn't being used up doing other
things. Scientists are able to study what goes on in people’s heads while they sleep. They have
discovered that when we first drop off the heart beats more slowly and our breathing becomes

shadow. After about 90 minutes, we go into REM sleep. REM stands for Rapid Eye Movement

and it's a sign that we've started to dream.

You have dreams every night, even if you don't remember them. There are all sorts of
theories about why we dream. One is that it gives the brain a chance to sort out the
day's activities, filling everything away in the right place. Another is that the brain gets
bored while we're asleep and organizes its own entertainment- a sort of late- night
cinema!

Some people have to have eight hours sleep every night while others seem to manage
on a lot less, however, we all need some sleep. An American jockey, who stayed awake

for 200 hours to raise money for charity, thought things were bursting into flames all

around him after 120 hours without sleep. He survived the ordeal but was depressed

for 3 months afterwards.
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Humans are unusual in the way they sleep. Most animals have a sleep during the day
and tests have shown that a lap can be beneficial for us too. It's even been
recommended that airline pilots should have a nap during long flights. That way they
are more alert for the tricky business of landing.

10- Scientists have discovered that .......... .
1) some people never remember their dreams.
2) people’s eyes move when they are dreaming
3) we can study what goes on in people’s heads
4) most people dream for 90 minutes every night
11- What does the writer say about people and animals sleeping habits?
1) people would benefit from copying animals' sleeping habits.
2) animals usually need more sleep than people.
3) people and animals have similar sleeping habits.
4) people sleep during the night but animals sleep during the day.
12- Considering the amount of sleep we need, the writer says that ........... :
1) people who do sleep enough get depressed
2) most people need eight hours sleep a night
3) people who sleep too little start imagining things

4) not everyone needs the same amount of sleep
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13- Most scientists believe that we sleep because .......... .
1) all our energy has been used up
2) our brains are tired and need to rest
3) the heart requires beating more slowly
4) our bodies need to carry out repair work

14- The word "it"inline 9 refersto .............. .

1) dreaming 2) every night

3) one theory 4) remembering

15- the American jockey fell asleep after ................ .

1) 3 months 2) 120 hours

3) 200 hours 4) 320 hours

Part D: Food texts

Food Chemistry

The chemistry of the Millard reaction of sugars with proteins is the least understood of
all types of browning reactions. Presumably the sugar condenses, exolizes, and is
dehydrated but how it forms strong bonds with the protein remains to be determined.
Furaldehydes and fragmentation aldehydes formed by dehydration and fission of the
sugar may condense with the free amino groups or the dehydrated sugar may remain

combined with the amino groups throughout. Both types of reaction probably occur in
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view of the 40 compounds that have been isolated form a lactose case model system of

browned dried milk. Lysine, methionine, and the N - terminal amino acids of proteins
react most strongly with pentoses, less strongly with D - galactose and D - mannose,
less with D-glucose, still less with D - Aructose and lactose, and least with sucrose.
However, sucrose reacts very strongly with lactalbumin, although not with
lactoglobuline. Substantial losses (chemical alternation) of the above amino acids can
occur when they are exposed, in the presence of reducing sugars, to rather drastic heat

treatments. At 90° C, 40% -of lysine was lost in 2 hours, whereas no loss was detected

for histidine and arginine in the same protein. Similar studies involving the heating of
Purified proteins in the presence of reducing sugars from serum albumins and serum

globulins are greater than that from gluten proteins.

16- What reaction probably occurs in a browned dried milk system?

1) Condensation of dehydrated sugar with amino groups

2) Reaction between reducing sugars and fragmented aldehydes

3) Condensation of fragmented sugars and furaldehydes

4) Reaction between non-reducing sugars and amino groups

17- Which compounds showed less reduction in the presence of reducing sugars?

1) Serum globulins 2) Serum

3) Methionine 4) Gluten
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18- What still needs to be studied? Sugar

1) bonding with protein 2) condensation

3) dehydration 4) enolization

19- Which compounds react not very strongly with sucrose?

1) Histidine 2) lactoglobuline

3) Lactalbumine 4) Lysine

20- Fragmentation aldehydes are formed through by ...............

1) reaction between condensed sugars and aldehydes

2) combination of enolized sugar with amino groups

3) combination of dehydrated sugars with amino groups

4) reaction between condensed sugars and fragmented sugars

21- Methionine react against .............. at minimum rate.

1) D-glucose 2) D- galactose 3) Sucrose 4) Pentoses

It may seem to be stating the obvious to say that the first essential and desirable factor
to be considered for establishing a food manufacturing premise is a location. This
location must be free from flooding, smoke, dust, objectionable odors and potential
hazards from surrounding activities such as agriculture, sewage plant, rubbish tips
and ample supply of portable water. Run- off and seepage agricultural land and an

effluent treatment plant can contaminate the water with toxic chemicals such as
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insecticides, crop sprays, water-born contaminants such as salmonella and silage
liquids. The later one contains organic matter which, on decay, consumes oxygen and
depletes its concentration in water. Even a periodical deficiency of water is
undesirable.

Several kinds of plastic films are presently in use for storage of frozen poultry. Some of
the desirable features of these films are impermeability to moisture and oxygen,
transparency, heat seal ability, and flexibility at low temperature. The quality of frozen
poultry is determined by its taste, digestibility, palatability and tenderness, As a result
of the action of freezing and defrosting, there are textural changes and poultry tissues
become more porous. Thus offering greater mechanical opportunity for microbial
invasion. Thawing involves the changes encountered during freezing, in a reverse
direction. One may mention increases in fluidity and in the resulting properties, such
as infusibility and rate of heat transfer. The loss of quality in frozen poultry on
thawing is known as drip, oozing and flabbiness.

22- "Stating the obvious "(line 1) means saying ............... :

1) the truth 2) what is well-known to every body

3) the fact 4) what people really know

23- "Desirable (paragraph 2, linel) means ................

1) applicable 2) enjoyable

3) pleasing 4) wise
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24) Increase in fluidity can be associated with .............. .

1) drip and oozing 2) freezing and thawing

3) mechanical action 4) freezing and microbial invasion

25- The secondary factor for setting up a food manufacturing premise is to have

1) enough supply of water

2) more than adequate supply of land

3) enough supply of food

4) more than adequate supply of drinkable water

26- Agricultural land can contaminate the water supply of a food factory

through ............. :

1) spraying insecticides on the land

2) see paging of portable water

3) running on of crop sprays on the land

4) oozing of insecticides and crop sprays in to the water supply
27- Which of the following is a water-born contaminant?

1) dust 2) insecticides

3) salmonella 4) smoke
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28- Which of the following substances contains organic matter? ......

1) silage liquids 2) salmonella

3) crop sprays 4) food plant

29- Which of the following features has some bearing on quality of frozen poultry?

1) transparency 2) palatability

3) heat seal ability 4) flexibility

30- Poultry tissues become more porous due to ............... :

1) freezing and defrosting 2) mechanical actions

3) microbial actions 4) thawing
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1- Ann agreed to stay behind; she wasused to ............... late.

1) having worked 2) have worked

3) work 4) working
2- Some people take pleasure indoingevil ............... others take pleasure in doing
good.

1) after 2) until 3) while 4) when
3- Keep off my property ................ I'll call the police.

1) however 2) otherwise 3) still 4) therefore
4- My supervisor advised meto ............... the problem.

1) look ahead 2) look back

3) look into 4) look out of
5-He ..o, forward to listen to the child.

1) bent 2)cost 3) lent 4) sent
6- This administration has ................ many problems from the previous one.

1) investigated 2) inherited 3) pretended 4)perfected
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7- Some seventy percent of china's ............... to the U.S. go first to H(j:_; Kong, for
packaging and shipping.

1) exports 2) experiments 3) records 4) reports
8- He ran up the stairs threeat ..................

1) times 2) once 3) a pace 4) atime

9- The United States is reported to have partially lifted its ban on arms ..............

to Argentina.

1)sail 2)sales 3)sell 4)sells
10-The .......... of the factory will mean the employment of sixty extra workers.
1) explanation 2) expenses 3) expansion 4) explosion

S Ol 1,15 G 11 sla JIgm e 4 35 g duilgs 8o a1y Jslio oye

The author is an aggressive, brilliant and literate astronomer. This vastly entertaining
book has a simple manner with complex ideas, without being patronizing, and is often

very funny. In 274 pages Sagan deals with everything from the formation of the Earth

to the puzzling possibilities of contact with extra-terrestrial life. This is the moment in
history when man's stepping into the universe has suddenly become conceivable. To
Sagan this is more exciting and important than was the exploration of the New World
in the sixteenth century. So expenditure on the space programmer, pruned of recent

excesses, ought to continue-it is, according to Sagan, no larger a part of America's
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gross national income than was the relative cost to England in the sixteenth century of
exploration in sailing ships. The book is not for scientific illiterates, nor is Sagan
pedestrian scientist. Although he makes short work of the unidentified foreign objects
(UFO) spotters, he is unafraid to take us on a speculative journey to a black hole which,
for all he knows, might be the quick route to somewhere else, not necessarily our
universe.

Sagan exhibits a passionate interest in life in the cosmos, in which there are almost
certainly civilizations much more advanced than our own. We are the result of a
number of relatively recent cosmic accidents, but for all that, Sagan is no less excited
about our future.

11- From the passage we understand that Carl Sagan writes ........... .

1) elaborately and literally 2) forcefully and complexly

3) simply and humorously 4) snobbishly and cleverly

12- Carl Sagan suggests that modernman ........... .

1) believes it is possible to step off the Earth

2) is historically incapable of exploring the universe

3) is very confused about the origin often Earth

4) might possibly reach life outside the Earth
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13- How much does Sagan think America should spend on space Exploration?
1) more than she does at present
2) less than she does at present
3) all of her gross national income
4) as much as England did in the sixteenth century
14- 1t would appear that the public Sagan hopes to attract ..............
1) are only interested in science fiction
2) are interested in UFO spotting
3) are unable to write science fiction
4) have a reasonable grounding in science
15- The text seems to imply that other forms of life in the cosmos .............. :
1) are in existence 2) have never existed

3) have all died out 4) may exist in the future

Vegetables or fruits genetically selected or altered for enhanced pest resistance are currently

being proposed as viable alternatives to chemical pesticide use in agriculture.

16- Child in pesticide differs from - cide in ................ :

1) parricide 2) fungicide 3) genocide 4) coincide
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17 -The sentence suggests that .......... .
1) any alteration in pests brings about resistance variations
2) agriculture very much depends on pesticides
3) natural pesticides substitute chemicals
4) selecting chemical pesticides for use in agriculture is enhanced.
18- Viable is closes in meaning to .............
1) redundant 2) possible 3) related 4) various

The concept of engaging in meaningful collaborative research is consistent with both
national and community-wide desires to increase industrial efficiency and
competitiveness and to ensure food safety and quality for the consumer.

19- The ultimate goal as proposed by the writeristo .............. :
1) highten food safety and quality
2) create competition among the practitioners
3) improve nation and community conditions
4) get involved in team researches

20- The word in the sentence closest to ‘competent’ in meaning is .............. .

1) consistent 2) collaborative

3) efficient 4) competitive
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As they taste individual aromatic chemicals, flavorists discover what is known as the
threshold level-the minimum level of aromatic material at which the characters or
notes it possesses are recognized.

21- 'They' and 'it' in the sentence refer to ............. and .......... , respectively.

1) chemicals / threshold level

2) notes / minimum level

3) characters / individual

4) flavorists / aromatic material

22- This sentence could be an extract of a text entitled "................ .

1) training flavorists

2) designing flavor for a new product

3) threshold level, what's that?

4) terminology of tastes

23- According to the statement, itis true that ............... :

1) the minimum level of aromatic material depends on its taste

2) the discovery of the threshold level requires different tests

3) the identification of threshold level requires tasting the chemicals

4) individual tastes of flavorists affect their judgments
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To be retortable, the manufacturer's frozen lasagna product would require
reformulation with starches, noodles, cheeses, and so on, that would tolerate being
canned- the essence of the retort process- with little, if any, loss of product quality.

24- The sentence suggests that ................ :

1) reformulation would best guarantee product quality

2) lasagna, when frozen, better tolerates being canned

3) starches, noodles, and cheeses hardly tolerate retort processes

4) the manufacturers care little about their product quality

25- The author ............. the retort processes.
1) simplifies 2) criticizes
3) prohibits 4) favors

26- 'Retortability’ is opted for ............. :

1) product quality 2) the frozen product

3) canning processes 4) reformulation of ingredients

With the increasing complexity of value- added product, it is imperative that a degree

of fault tolerance be built into the product.



27- The sentence implies that ..................

1) there is no room for making mistakes
2) increasing prices for products must be expected
3) considerations must be made to avoid product unsuitability
4) manufacturing products is a complex process
28- This sentence is a support for the idea of ................. :
1) encouraging the buying decision
2) the role of product knowledge
3) training food service distribution
4) the need for advertising for sales

A product that makes a large and successful market debut will soon attract

competitors who are in a position to undercut a new or potentia-1 market entry

through price cuts, advertising, two- for- one sales, and pressure on retailers, to

emasculate a new product entry.

29- To emasculate a new product, competitors do NOT ............
1) offer good sales 2) limit retailers

3) lower their prices 4) advertise the product
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30- The following sentence in the text will most probably ................ .
1) introduce an instance of a competition
2) list methods of successful marketing
3) explore reasons for retailing

4) question the need for attraction
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Part A: vocabulary

Directions: In questions 1-5, each item consists of an incomplete sentence. Below

the sentence are four choices, marked (1), (2), (3), and (4). You should find the

one choice which best completes the sentence. Mark your choice on the answer

sheet.

1- Her phonewas .......... for along time, but in the end | managed to talk to her.
1) restricted 2) engaged
3) employed 4) approved

2- This organization isvery ............... about the destruction of the green land.
1) concerned 2) impressed
3) entertained 4) encouraged

3- Cathy hates going to parties because she isverysheand ........... talking to people.
1) decreases 2) avoids
3) attempts 4) prevents

4-Tomy... he arrived unexpectedly on the doorstep with a big bunch of flowers.

1) amusement 2) achievement

3) management 4) astonishment
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5- She wrote to the company and asked them .......... to give her the money back.
1) confidently 2) immediately
3) correctly 4) politely

Part B: Grammar

Directions: In questions 6-10 each sentence has four underlined words or phrases

marked (1),(2),(3) and (4). Identify the one underlined word or phrase that must be

changed in order for the sentence to be correct. Then, mark your answer sheet.

6- We had to drive careful because the road was icy in several places.
) Y \ ¢

7- Because the weather forecast it will rain heavily later this morning.
| Y ¥ ¢

8- You will have to hurry because the train has left in ten minutes.
| Y g ¢

9- There was a small room into where we all crowded.
3 Y v ¢

10- I shouldn't imagine there is nobody on earth who can answer that question.
) Y ¥ £

Part C: Reading Comprehension

Directions: In this part of the test you will read a passage followed by 5

guestions about it. For questions 11-15, you are to choose the one best answer, (1),

(2), (3), or (4), to each question. Then mark your answer sheet.
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Dinosaurs, a group of numerous different kinds of reptiles, lived during the earth's

Metazoic age, a period which began almost 220 million years ago. There are no

dinosaurs still in existence. These animals became extinct more than 70 million years

ago. Nevertheless, the habits of these prehistoric creatures are of continuing interest to
scientists who search for and study dinosaur remains in an effort to learn more about
how the earth developed.

Some dinosaurs consumed only plants, but others ate meat. Tyrannosaurus Rex, a
large flesh-eating dinosaur, has long been regarded as the most frightening of all. It

stood 20 or more feet tall, and used its enormous (very big) tail to help balance on an

overall length of up to 50 feet. The animal, whose name means "the Cruel King", moved

about widely throughout what is now the continent of North America. Claws nearly a
foot long, and a mouth full of sharp, six-inch teeth, enabled Tyrannosaurus Rex to kill
and cut the body of any animal it saw into pieces as a potential meal.

In January, 1983, Bill Walker, an amateur fossil hunter, found an enormous claw in a

hole near Surrey, England. Walker suspected that this claw was not from any ordinary
creature. Scientists have confirmed that Walker found the remains of a dinosaur even
more fearful than Tyrannosaurus Rex. The new discovery had claws nearly twice as
long as those of any previously found dinosaur. Although the animal probably stood no

more than 15 feet high, its built-in weapons show that it was extremely wild. "The

Cruel King" may not have been the most terrible after all.
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11- Animals which are "extinct" ............. .

1) usually eat other animals 2) defend themselves well

3) don't exist anymore 4) frighten other animals
12- The teeth of Tyrannosaurus Rex .............. .

1) needed frequent sharpening 2) caused very little harm

3) could cut meat very easily 4) killed Bill Walker's dinosaur
13- The newly discovered dinosaur had ...............

1) teeth for eating grass 2) small feet in the front

3) other dinosaurs for friends 4) very big claws as weapons
14- Scientists study dinosaurs to .............. .

1) try to bring them back 2) learn about the earth

3) to frighten each other 4) know about their habits

15- The story suggests that there might have been other dinosaurs ............ .

1) more powerful than "the Cruel King"

2) using weapons for killing animals

3) ruling as kings in North America

4) eating scientists for their meal
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16- A nutrient which the body cannot make and, therefore, must be supplied by

dietisa/an ............ nutrient.
1) energy producing 2) essential
3) vital 4) dispensable

17- Chemical food poisoning ............... :

1) isintrinsic 2) is a natural food

3) can be either intrinsic or extrinsic 4) contains no protein

18- Chocolate does not spoil microbiologically because it ............ :

1) is sweet and contains fat 2) is a natural food

3) contains no water 4) contains no protein

19- The oldest food preservation processiis ............... drying

1) drum 2) sun 3) spray 4) tunnel

Sorbic acid and its sodium and potassium salts are widely used to inhibit mold and
yeasts in a wide variety of foods including cheese, backed products, fruit juices and
pickles. Sorbic acid is particularly effective in preventing mold growth, and it
contributes little flavor at the concentrations employed. The activity of sorbic acid
increases as the pH decreases, indicating that the undissociated form is more

inhibitory than the dissociated form. The antimyotic action of sorbic acid appears to
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arise because molds are unable to metabolize the a - unsaturated diene system of its

aliphatic chain.

20- All of the following are implied or stated except that ..............
1) sorbic acid is a pH-dependent inhibitor
2) sorbic acid is not an anti-bacterial food additive
3) flavor of the food is not affected by sorbic acid

4) sorbic acid is used in food with (very) low water activity (aw)

The three main requirements for Millard browning are a reactive carbonyl compound,
a source of primary or secondary amine groups, and heat. Reducing sugars exist to
some extent as the free aldehyde or ketone. Amines come from free amino acids or

proteins.

21- The principle theoryof .............. has been described in the paragraph.
1) non-enzymatic browning
2) enzymatic browning
3) Millard nitrogen compounds (Amadori rearrargement)

4) caramelization due to the application of heat
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Blanching is used to destroy enzymatic activity in vegetables and some fruits, prior to
further processing. As such, it is not intended as a sole method of preservation but as a
pre-treatment which is normally carried out between the preparation of the raw
material and later operation. A few vegetables such as onions and green peppers do
not require a blanching treatment, but the majority suffers considerable deterioration
if blanching is omitted or if they are under blanched. To achieve adequate enzyme
inactivation, food is heated rapidly to a present temperature, held for some time and
cooled rapidly.

22- According to the paragraph, all of the following statements are true except

that..............

1) onions and green peppers have no harmful enzyme.

2) blanching is employed at the final stage of vegetable and some fruits processing.

3) blanching is necessary before dehydration and/or freezing.

4) under blanching means employing inadequate time and/or temperature for

balancing.
The grain of a loaf of bread is not a random collection of cells but instead an organized
system that can tell much about the loaf. In an aqueous environment with no added
stress, gas cells will always be round. They have the minimum surface area and are
clearly seen in cakes or in breads made with the continuous bread making systems; so
that there is no external forces on the cells. In conventionally made bread, many of the

cells are elongated, indicating that considerable force, was put on the cell.
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23- According to the paragraph, which of the following statements is implied or

stated?

1) Cakes and breads are organized systems.

2) Texture of bread consists of organized system

3) Methods of bread making have no effect on the bread texture.

4) Both round and elongated gas cells are seen together in a loaf of bread.

Changes From Concentration

Obviously concentration that exposes food to 212° F or higher temperatures for
prolonged periods can cause major changes in organoleptic and nutritional properties.
Cooked flavors and darkening color are two of the more common heat induced results.
In addition to the desirability of controlled amounts of these changes in maple syrup,
heat induced reactions also characterize certain candies such as caramel, and in
caramel production sugar-milk mixtures are intentionally concentrated at high
temperature. With most other foods, however, the lower the concentration
temperature the better, since we most often want the reconstituted concentrated food
to resemble as closely as possible the natural single-strength product. Even at the
lowest temperatures, however, concentration can cause other changes that arc
undesirable. Two such changes involve sugars and proteins.

All sugars have an upper limit of concentration in water beyond which they are not

soluble. Thus at room temperature sucrose is soluble to the extent of about 2 parts

sugar in | part water. If we evaporate water beyond this concentration level the sugar

crystallizes out. This can result in gritty. Sugar jellies or jams which are undesirable. It
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also results in a condition known as "sandiness™. in certain milk products when lactose
crystallizes due to overconcentration. Since the amount of sugar that can be in
solution decreases with decreasing temperature, a concentrated product may be
smooth in texture at room temperature but become gritty or sandy when put into a
refrigerator. This condition Occurs in the manufacture of ice cream due to lactose
crystallization during freezing if the concentration of lactose from concentrated milk

ingredients is excessive.

24- At room temperature ............... is soluble to the extent of 2 parts sugar in |
part water.

1) sucrose 2) glucose

3) fructose 4) lactose

25- The amount of sugar in solution ................ .
1) increases with the increase of temperature
2) decreases with the increase of temperature
3) increases with the decrease temperature
4) does not depend on temperature at all

26- Sandiness in ice-cream is due to over concentrationof ................

1) minerals 2) lactose 3) sucrose 4) salts
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27- According to the text, all sugars have an upper limit of concentration in
water beyond which they .............. :

1) are caramelized 2) change to invert sugar

3) polymerize 4) are not soluble

28- Major changes in organoleptic and nutritional properties during

concentrationaredueto.............

1) high temperatures

2) prolonged period of time

3) high temperature and prolonged period of time

4) high vacuum in evaporators

Parmesan Cheese

Parmesan is a member of the family of "hard grating” type cheeses which were
originally developed in Italy in the vicinity of Parma and is closely related to a group of
cheeses differing in size, shape, composition, and to some extent, in the method of
manufacture. These cheeses are characterized by the hard brittle body which makes
them suitable for grating.

In the United States, Parmesan is made from partially skimmed milk by much the same
basic procedures used for Swiss cheese including the use of Streptococcus
thermophilus and Lactobacillus bulgaricus or L. lactis as starters. The curd is normally

cooked to 46°- 51°C and when the curd is properly firmed, it is placed into cloth lined



P ————

metal hoops and pressed. After pressing, the cheese is salted either in brine or by dry
salting. The period of salting will vary depending upon the size of the cheese, but will

normally be from 10 to 20 days. The cheese is cured on shelves for 3 minimum of 10

months during which time the cheese may be frequently cleaned and rubbed with oil.
During the curing at temperatures ranging from 12° to 15°C, there is a gradual loss of

moisture so that when it is fully cured, its moisture content is less than 32% and the

characteristic hard brittle body has developed. Other cheeses commonly included in
this group of cheeses are Reggiano, Veneto, Parmigiano, Lodigiano, Lombardy,
Emiliano, Venezza, and Bagozzo or Bresciano. The Romano type cheeses ate also
closely related to the Parmesan group but have a much more sharper piquant flavor

and in the United States must contain not less than 38% fat in the solids.

29- How much is the temperature range for curing?

1) Blow 12° 2) Around 13°C to 14°C

3) Above 15°C 4) More than 12°C but less than 15°C

30- How many types of cheese are placed in parmesan group?

1) 1 group 2) 8 groups

3) 9 groups 4) 10 groups
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Part A:

Directions: In questions, 1-10, each item consists of an incomplete sentence. Below

the sentence are four choices, marked (1), (2), (3), and (4). You should find the

one choice which best completes the sentence. Mark your choice on the answer

sheet.

1- I am looking for the office where they keep things that people ................ in the

station or on the train.

1) miss 2) loose 3) have lost 4) have missed
2-She ........... the place.

1) had trouble find 2) had trouble finding

3) was in trouble to find 4) was in trouble finding

3- We all had our pictures ................. :

1) take 2) taken 3) pick 4) picked

4-You'll probably have tofill .......... an application form.

1) in 2) down 3) from 4) through
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5- Despite what the critics said about the play, the ........... in the theater last

night seemed to enjoy it.

1) readers 2) spectators 3) viewers 4) audience
6-Ifyou .............. an object to someone. you give it to him.

1) pass 2) take 3) show 4) send
7-Youcan't....... on the train arriving on time.

1) depend 2) rely 3) reply 4) demand
8- If you want to stop your car, you have to put your footon the ............ pedal.

1) gas 2) clutch 3) brake 4) accelerator

9- If you're overweight. you'd better goona................ .
1) diet 2) regime 3) cure 4) holiday
10-1 ., some old family photographs while | was looking through some

boxes in the cellar.

1) came around 2) came up 3) came to 4) came across

Part B:

Directions: (Questions 11-15) In the following letter some words or phrases are
missing. Under the letter there are four choices for each item marked (1), (2),
(3), and (4). You should find the one choice which best fits in the blanks. Mark

your choice on the answer sheet.



gv-_- = ==

It is with regret that we now give you formal notice that your account has been closed.

Your credit limit has been ...(11)... by over 100, Customers are asked to ...(12)... in
writing if they wish their credit to be extended, and this was not done, you ...(13)... last

month that this would be the result. In accordance with the conditions of use, copy of

which has already been sent to you, the whole of the balance is payable with
immediate effect. You are ...(14)... to return to us your credit card, but before doing so it
should be cut in half for security. A pre-addressed envelope (not pre-paid) is ...(15)....

Yours faithfully.

11-

1) excepted 2) exceeding 3) expanded 4) expanding
12-

1) apply 2) reply 3) request 4) inform
13-

I) were warned 2) warned 3) noticed 4) had noticed
14-

1) required 2) ordered 3) expecting 4) requesting
15-

1) enclosed 2) sent 3) enclose 4) send
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16- The study of "deformation and flow of matter" is technically referred to as

1) Rheology 2) Fluid flow

3) Thixotrophy 4) viscoelasticity

17- The figure indicates that aqueous dispersion of 2.0% methylcellulose. Shows

similar thermovisco elastic response ............. .

1) whether it is cold or hot "

2) irrespective of ramping rate

3) despite the value of the storage modules i
4) irrespective of heating and cooling of the materials

Paulson and Tung (1989) found that, for an all-meat emulsion, the initial heating from

20 to 60°C caused a decrease in G' similar to that seen with myosin and ovalbumin.

18- The text implies that thereiis ................ between 'heat’ and G".

1) no correlation 2) null correlation

3) a positive correlation 4) a negative correlation

19- The word 'emulsion’ is closest in meaningto ..............

1) myosin 2) ovalbumin

3) bony parts 4) creamy liquid
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20- The figure shows that, for an all-meat emulsion. The initial heating from 20 to

60°C ..o

1) had no effect on myosin

2) caused a degree in G'

3) would produce ovalbumin

4) resulted in a logarithmic increase in G'

21- Which term is described by the following definition?

"It encompasses all the rheological and structural (geometrical and surface)
attributes of a food product perceptible by means or mechanical, tactile and,
when appropriate, visual and auditory receptors”.

1) Texture 2) Kinesthetic

3) Elongation 4) Viscoelasticity

Methylcellulose polymer (Type A4M Dow Chemical USA, Midland. MI) had a molecular
weight of approximately 1.3" 10° and a degree of substitution of about 1,8. The polymer
was dispersed in a 250 ml beaker containing distilled water at 95- 99° C with constant
stirring for a minimum of 4 min. The beaker was then placed -in an ice bath for a
minimum of 1 h. Water was added back to the beaker to compensate for evaporative loss,

bringing the dispersion to a concentration of 2,0% w/w. The resulting solution was placed
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in a screw-top polyethylene container. Held at 5°C overnight then kept at room
temperature for the duration of the test.

22- The author tries to show how .............. .
1) beakers are to be compensated for
2) distilled water might get to 95- 99°C
3) methylcellulose solution is to be prepared
4) temperature can be reduced to 5°C overnight

23- For the material to be processed and be produced the researcher had to

spend ............. .
1) awhole night 2) approximately one day
3) not less than 64 minutes 4) not less than 99° minutes

Rheology is defined as the study of deformation and flow of matter. Deformation
pertains to matter which is solid; and flow to matter which is liquid. In the simplest
case. The rheological property of interest in solids is their elasticity and in liquids it is
viscosity. Foods, in general, cannot be categorized in so clear cut a manner as so solids
and liquids. They are neither viscous nor elastic but are viscoelastic.

24- The pronoun 'their’ (line 4) refersto ..............
1) foods (line4) 2) solids (line 4)

3) liquids (line 5) 4) they (line 6)
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25- The expression ‘viscoelastic” is used as a characteristic of ............... .

1) gases 2) solids 3) liquids 4) foods

According to kokini (1976, 1985) in the perception of thickness in the mouth the food is

first squeezed between the tongue and the palate to a certain thickness. The thickness
of a semi- solid food as perceived in the mouth is related to the sharing, force exerted
on the tongue as the food is being shared between the tongue and the palate following
the squeezing step.

26- According to the text, the role of tongue and the palateisto ........... in the mouth.

1) soften the solid food

2) squeeze the semi-solid food

3) test whether the food is soft enough

4) exert the greatest possible force on the food

27- It seems that the author's idea about the process of squeezing of the food has

1) been totally rejected

2) remained a matter of controversy

3) remained unchanged for a decade

4) been modified several times since 1976
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Polysaccharides and proteins which form gels upon addition or removal of thermal
energy exhibit unique viscoelastic behavior during the sol-gel transition. Molecular
responses to thermal energy changes are often evident as changes in mechanical
properties of the polymer dispersion, there by contributing. to the texture and
structure of many foods. In this paper we will illustrate changes in rheological
properties brought about by heating and cooling selected polysaccharide and protein
dispersions which behave in different manners.

28- According to the text, in order for gels to be formed, thermal energy ....... .

1) should be transmitted

2) changes are to be dispersed

3) is either to be removed or added

4) should show some kind of viscoelastic behavior

29- Changes in mechanical properties of the polymer dispersion ............. :

1) contribute to the texture of many foods

2) are brought about by viscoelastic behaviors

3) have on polysaccharides and proteins

4) will illustrate changes in rheological properties



30- The most convenient title for the paper could be ............. .

1) Tutorial Review 2) Methylcellulose Study

3) Thermoviscoelastic Profile 4) Food Polymer Dispersion
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Part A: Grammar and Vocabulary
Choose the best answer to each question.
-, people enroll in English classes during the winter.

1) Lot of 2) Less 3) Fewer 4) The least
2- 1o, the movie before, but | decided to see it again.

1) saw 2) have seen 3) would see 4) had seen
3- Water waves are ............ by the action of the wind.

1) generated 2) designed 3) delivered 4) encouraged
4- Deep freezing is now a common way of .............. fruit and vegetables.

1) identifying 2) preserving 3) preventing 4) recovering
5- We haven't seen each other ............. a long time.

1) since 2) for 3) until 4) during

6- Would you take my car to the garage to haveiit ............. :

1) repaired 2) for repairing

3) to be repaired 4) being repaired
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7-Adirect........ exists between seat belt use and the number of traffic deaths.

1) line 2) chain 3) link 4) support
8-In...... the growth of industry was promoted by the war of 1812.

1) particular 2) example 3) usual 4) instance
Part B: Cloze

Choose the answer that best completes each blank.

Good press photographers must have an "eye" for news. They ...(9)... be rapidly how they can

..(10)... advantage of the best opportunities to take pictures. The most difficult part of a

press photographer'sis ... (11) ... he or she has to be able to ...(12)... a complicated situation

with just one photograph. They rarely have second chances.

0-

1) have 2) can 3) would 4) must
10-

1) hold 2) catch 3) get 4) take
11-

1) what 2) that 3) how 4) when
12-

1) turnout 2) put out 3) sum up 4) look up



Part C: Reading comprehension

Read the following passage and answer the question.

Carbohydrates, which are sugars, ate an essential part of a healthy diet. They provide
the main source of energy for the body, and they also function to flavor and sweeten
foods. Carbohydrates range from simple sugars like glucose to complex sugars such as
amylase and amylopectin. Nutritionists estimate that carbohydrates should make up

about one-fourth to one-fifth of a person’s diet. This translates to about 75-100 grams

of carbohydrates per day. A diet that is deficient in carbohydrates can have an adverse
effect on a person's health. When the body lacks a sufficient amount of carbohydrates
it must then use its protein supplies for energy, a process called gluconeogenesis. This,
however, results in a lack of necessary protein, and further health difficulties may
occur. A lack of carbohydrates can also lead to kerosis, a build-up of ketones in the
body that causes fatigue, lethargy, and bad breath.

13- According o the passage, what do most nutritionists suggest?

1) Carbohydrates should be eaten in very small quantities.

2) sufficient Carbohydrates will prevent gluconeogenesis.

3) Carbohydrates are simple sugars called glucose.

4) Carbohydrates should make up about a person's daily diet.



=
14- Which of the following do Carbohydrates NOT do?
1) prevent ketosis 2) provide energy for the body
3) flavor and sweeten food 4) cause gluconeogenesis.

15- What does the word "this" refers to in line 8?
1) using protein supplies for energy.
2) changing carbohydrates to energy.
3) having a deficiency in Carbohydrates
4) having an insufficient amount of protein.

During conventional thawing of frozen foods the lower thermal conductivity of water
compared with ice, reduces the rate of heat transfer. Microwaves rapidly thaw small
portion of food but difficulties arise with large blocks of frozen food used in industrial
process. Water has a higher loss factor than ice and as a result heats rapidly once the
ice melts. In the larger blocks, thawing dose not takes place uniformly, and some
portion of the food may cook while others remain frozen.

16- Choose one of the following sentences, which are correct according to above

paragraph.

1) Water heats faster than ice in conventional ovens.
2) Heat transfer of ice is higher than water because of its higher thermal conductivity
3) The difficulty of heating large blocks of frozen food is due to higher thermal

conductivity of ice.

4) Lower thermal conductivity of ice, reduces the rate of heating in conventional

methods.
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17- Choose one of the following sentence, which is correct according to above

paragraph.

1) Thawing does not take place uniformly in microwave oven, because ice melts very fast.
2) Higher loss factor of ice causes no uniformity of heating during conventional

thawing of frozen foods.

3) The difficulty of heating large blocks of frozen foods in microwave oven is due

to the lower loss factor of ice compared with water.

4) Some portion of the food may cook in microwave oven while other remains

frozen due to higher thermal conductivity of ice.

The rate of respiration of fresh fruit is not necessarily constant at a constant storage
temperature; Fruit which undergo ‘climacteric' ripening show a short but abrupt point

of optimum ripeness.

18- In above paragraph, ‘climacteric’ means:

1) Increase in the respiration of fruits near to the point of ripeness.

2) Constant respiration of fruits at a constant storage temperature.

3) Constant respiration of fruits near to the point of optimum ripeness.

4) Fruit which undergo ripening a short time before increasing the rate of respiration.
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Latent heat is transferred to food when saturated steam condenses on the outside of
the container. If air is trapped inside the retort, it forms an insulating boundary film
around the cans which prevents the steam from condensing and causes under
processing of the food. It also produces a lower temperature than that obtained with
saturated steam. It is therefore important that all air is removed from the retort by the
incoming steam using a procedure known as venting.

19- in above paragraph venting means:

1) Sending steam into the retort.

2) Removing of air from retort.

3) Removing air and steam from retort.

4) Production of higher temperature with saturated steam.

20- Choose the best sentence according to above paragraph.
1) Itis important to vent the retort by the incoming air.
2) Air forms an insulating boundary film inside the retort and prevents steam

condensation.

3) If air trapped around the cans produces lower temperature compared to

saturated steam.

4) Latent heat is transferred to container when saturated steam, condenses on

the boundary film around the can.
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The flow of water along a pipe may be compared to the flow of electricity along a wire.
The pressure of the water in the pipe may be compared to the electrical potential. The
resistance of the walls of the pipe to the water current may be compared to the
resistance of the wire to the electrical current.

21- In above paragraph, the writer does not compare ........... .
1) flow of water and electrical current
2) water pressure and electrical potential
3) pipe wall resistance to water flow and wire resistance to electrical current
4) water current wall resistance and electrical potential.

22- Thermal destruction of micro-organisms take place logarithmically and a

sterile product ............ :

Choose one of the following sentences which best completes the above sentence.

1) Can be produce with certainly with a long process time.

2) Cannot be produced with a short process time

3) Can be produce with certainly, using a high process temperature

4) Cannot be produced with certainly no matter how long the process time
Fluidised bed drier metal trays with mesh or perforated bases contain a bed of

particulate foods up to 15 cm deep. Hot air is blown through the bed, causing the food

to become suspended and vigorously agitated. The air thus acts as both the drying and
the fluidising medium, and the maximum surface area of food is made available for
drying. Driers may be batch or continuous in operation, the later often fitted with a
vibrating base to help to move the product. In batch operation the later are often fitted

with a vibrating base to help to move the product. In batch operation, products are
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mixed by fluidisation and this leads to uniform drying. In continuous driers, there is a
greater range of moisture content in the dried product, and bin driers are therefore

used for finishing. Fluidised-bed driers are limited to small-particul6te foods that are

capable of being fluidised without excessive mechanical damage.

23- Choose |, 2, 3 or 4 which is not correct according to above paragraph.
1) Maximum surface of area of food is made available for drying by fluidising of it.
2) The hot air acts as fluidised medium which agitate the small particulate

foods and dry it.

3) Batch type fluidised bed driers are often fitted with a vibrating base to help

move the product.

4) Hot air is blown through the perforated bases of fluidised bed driers to

agitate the small particulate.

24- Choose |, 2, 3 or 4 which is correct according to above paragraph.

1) Batch fluidised bed driers produce a more uniform moisture content foods

than continuous type.

2) Continuous fluidised bed driers produce more uniform moisture content

particulate foods.

3) Both continuous or bath type fluidised bed driers are capable to dry uniform

moisture content food particles.

4) Continuous fluidised bed driers are limited to small-particulate foods while

batch type is capable to dry large-particulate foods.
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25- Choose 1.2.3 or 4 which is correct according to above paragraph.

1) Bin type driers often used for finishing of product dried by continuous

fluidised bed driers.

2) Bin driers often used for large particles dried by fluidised bed driers.
3) All type of fluidised bed driers need a finishing drier to uniform dried particle

moisture content.

4) Bin driers are often used for finishing the drying operation of batch type

fluidised bed driers.
Pasteurization is the process of heating a foodstuff, usually a liquid, for a definite time
at a definite temperature and then cooling it immediately. As applied to milk and its
products, pasteurization means heating milk products in order to destroy all
pathogenic organism and nearly all other bacteria, and yet not alter the flavor of
composition of the product. All yeasts and molds are generally killed by pasteurization.

Pasteurization is not the same as sterilization because it normally destroys only 95 to
99% of the bacteria present, while in sterilization the heat is sufficient to destroy

completely all living organism present.
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26- According to this paragraph, the pasteurization of a liquid is the process of

1) destroying all living organism presentin it.
2) destroying nearly all pathogenic organism.
3) heating it for a definite time at a definite temperature and cooling itimmediately.
4) killing all bacteria and spores.
27- According to above paragraph ............. :
1) sterilization destroy 99% of the bacteria present in milk
2) pasteurization does not alter the composition and flavor of milk
3) all bacteria and yeasts are generally killed by pasteurization in milk

4) sterilization destroy some of the nutrients in milk

The storage requirements for all cereals are generally the same. The grain must be

dry: 15 percent moisture or less is highly desirable; more than 18 percent moisture is

not acceptable for safe storage. If the grain is not sufficiently dry after harvest, it must
be dried artificially before storage. Artificial drying is common for both rice and corn.
Once dry, the grain must be stored in an area that protects it and keeps it dry. Properly
dried grain is not subject to significant damage from moderate temperature variation,

but extreme heating should be avoided.
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28- The main topic in this paragraph refers to the ............ .
1) temperature variation in grain stores
2) Way of harvesting and storing cereal crops
3) general storage conditions for certain cereals
4) desirable percentages of moisture stored cereals
29- According to above paragraph the grain with more than 18 percent moisture

content mustbe ..............

1) cooled and protected from extreme heating
2) dried to 15 percent or less moisture content before storage
3) stored in an area that protects and keeps it dry
4) protected from temperature variation damage
30- Grain must be dried Artificially before storage if ........... :
1) itisrice or corn
2) it's moisture content is about 15 percent
3) it is subject to extreme temperature variation

4) it is not sufficiently dry after harvest
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Part A: Grammar and Vocabulary
Choose the best answer to each question.
1- Farmers look forward ............. in the country fairs every summer.

1) to participate 2) participating

3) to participating 4) for participating
2- Unlike most Europeans, many Americans ......... bacon and eggs for breakfast.

1) used eating 2) used to eating

3) are used to eat 4) are used to eating
3- Not until a monkey is several years old ........... to show signs of independence

from its mother.

1) it begins 2) beginning
3) to begin 4) does it begin
4- The country would have won the war if the army .............. better.
1) fought 2) had fought
3) has fought 4) would fight
5-Thecourt........ the agreement after months of debate.
1) nullified 2) penetrated

3) vanished 4) inclined
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6- Pop art aimed to showall ............. of modern culture.
1) facets 2) outlines
3) retorts 4) analogies
7-The........ of life forms on Earth makes zoology an interesting area of study.
1) accomplishment 2) diversity
3) vibration 4) exaggeration
8-The ......... export of the Middle East is Petroleum
1) immense 2) exceeding
3) predominant 4) brilliant

Part B: Cloze Test

Choose the answer that best completes each blank.

One useful learning technique is mnemonics. The Greeks ...(9)... this memory system
from their ...(10)... of Mnemosyne, who was the goddess of memory. They learned that
you can remember things ...(11)... them together in some way. For example, as soon as
your brain ...(12)... the word "apple" it remembers the colors, tastes, textures, smells,

etc. of that particular fruit.

O-

1) developed 2) had developed

3) have developed 4) were developing



10-

1) participation 2) invention

3) worship 4) arrangement
11-

1) link 2) from linking

3) to link 4) by linking
12-

1) nourishes 2) functions

3) registers 4) focuses

Part C: Reading Comprehension
Read the following passage and answer the questions.

Computers are being used with a program designed to make better use of the earth’s
resources. The program also is used to correct mapping information collected by
satellite. As the National Aeronautics and Space Administration's LANDSAT satellite
circles the globe each day, its cameras and other sensor devices map sections of the
earth's surface and transmit digitized information to a land station. Ordinarily, such
things as satellite roll, pitch and yaw, earth rotation, and sensor, errors would make

these digitized pictures very difficult to read. But the corrective "lens" of the
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computer's program is able to reconstitute each of its 115- mile-square pictures with

remarkable clarity-even filling in sections that are missed by cameras.

13- What is the main topic of the passage?
1) A computer program that corrects satellite data.
2) How the LANDSAT satellite circles the earth.
3) The mapping of the earth’s surface.

4) How satellite information is transmitted to a land station.

14- The LANDSAT satellite .............. .

1) takes pictures of space 2) circles the land station
3) maps the earth's surface 4) transmits data of the earth's
rotation

15- The passage will probably continue by discussing ........... .
1) Other uses of satellites in space
2) computer programs for photographers
3) better use of the earth's resources

4) other uses of the computer program
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Read the following passage and choose the best answer to each question.

Questions 16 — 20

The most common nutritional deficiency in the world caused by chronic lack of protein

in the diet is kwashiorkor. Originally identified in Ghana in 1960, kwashiorkor is now

known to be rampant in most developing nations. Children with this disease suffer
server growth retardation, vulnerability to illness, swelling of the abdomen with
water, and marked apathy.

Kwashiorkor patients lose so much responsiveness to events around them that the treated
youngster who eventually smiles is considered to be on the road to recovery.

16- Kwashiorkor is the resultof ..............

1) food shortage in the world 2) too much protein in the diet

3) specific to children 4) lack of a certain food nutrient

17- Kwashiorkor leads to all of the following EXCEPT .............. :

1) indifference 2) loss of body water content

3) inadequate growth 4) an abnormally big belly

18- The word "eventually” in line 6 is closest in meaning to ...............

1) ultimately 2) approximately

3) probably 4) definitely

19- This problem was first observed in ............
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1) a developing country 2) almost all countries

3) children 4) youngsters

20- Which of the following can be an indication of a Kwashiorkor victim to be

about to recover problem?

1) Thirst for water 2) A good appetite

3) Responsiveness to events 4) The ability to go on long trips

Questions 21 — 26

Yeast is one of nature's most perfect foods, since it contains more nutrients than any other
food. B vitamins, choline, inositol, protein, amino acids — yeast has them all. Indisputably,
liver and wheat germ are a prime source of protein and B vitamins, But how many people
like the taste of liver or wheat germ? For that matter, yeast has a bitter taste, and not
many people relish eating it. That's all in the past now. Tasty Mix Yeast, blended with your
favorite beverage, tastes so good that children will be clamoring for more. Be creative and
add Tasty Mix to your favorite meat or vegetable dish, casserole, bread, soup, practically
anything. Easy, convenient Tasty Mix yeast Treat is one of nature's unique foods. Take
advantage of it now.

You can find it at any health food store or at your local supermarket.

21- What is the tone of the passage?

1) Sarcastic 2) Emotional

3) Promotional 4) Cautionary
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22) The word "relish™ in line 5 is closest in meaning to ............ .
1) enjoy 2) cease
3) imagine 4) consider
23- According to the passage, wheat germ and liver ........... :
1) are people's favorite dishes 2) taste awful
3) are empty of vitamin B 4) included in Tasty Mix yeast
24- Tasty Mix Yeast Treat is ............... :
1) is bitter in taste 2) a mixture
3) can be found in nature 4) what was used in the past
25- The passage implies that Tasty Mix Yeast ............ :
1) is a beverage 2) is hard to prepare
3) is not sold without a prescription 4) is easily accessible
26- You can conclude that this passage can be found in .............. :
1) an academic journal 2) a booklet at a health food store

3) a medical textbook 4) a restaurant menu
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Questions 27-30

The food we eat seems to have profound effects on our health. Although science has
made enormous steps in making food more fit to eat, it has, at the same time, made
many foods unfit to eat. Some research has shown that

perhaps eighty percent of all human illnesses are related to diet and forty percent of
cancer is related to the diet as well, especially cancer of the colon. Different cultures
are more prone to contract certain illnesses because of the food that is characteristic

in these cultures. That food is related to illness is not a new discovery, In 1945,

government researchers realized that nitrates and nitrites, commonly used to preserve
color in meats, and other food additives, caused cancer. Yet, these carcinogenic
additives remain in our food, and it becomes more difficult all the time to know which
things on the packaging labels of processed food are helpful or harmful. The additives
which we eat are not all so direct. Farmers often give penicillin to beef and poultry,
and because of this, penicillin had been found in the milk for treated cows. Sometimes
similar drugs are administered to animals not for medicinal purposes, but of financial
reasons. The farmers are simply trying to fatten the animals in order to obtain a
higher price on the market. Although the Food and Drug Administration (FDA) has

tried repeatedly to control these procedures, the practices continue.
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27- What does the passage mainly discuss?
1) Eating habits in different cultures
2) The contribution of science to the food industry
3) The effect of certain foods on health
4) Giving harmful drugs to beef and poultry
28- The word "profound” in line I is closest in meaning to .............
1) strong 2) harmful
3) clear 4) deep
29- Carcinogenic additives are likely to ............. :
1) appear on food labels 2) have been meats
3) cause cancer 4) improve health standards

30- All of the following are true EXCEPT ........... .

1) forty percent of cancer may be caused by food
2) farmers sometimes give drugs to animals without regard to their possible

negative effects

3) you may be exposed to penicillin if you drink the milk of a cow treated with

this medicine

4) due to the efforts made by FDA, farmers no longer misuse drugs
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Part A: Grammar and Vocabulary

Directions: Choose the number of the answer (1), (2), (3), or (4) that best

completes the sentence. Then mark your answer on the answer sheet.

- It's really none of our business with ......... he is in contact at the moment.
1) whom 2) that 3) which 4) who
2- | requested that they ............ the course unless they were sure they wouldn't

take it again the following term.

1) not drop 2) didn'tdrop
3) hadn't dropped 4) shouldn't have dropped
3- He didn't pay off his debt when it was due; ............ the bank decided not to fine
him.
1) despite 2) otherwise
3) nevertheless 4) on the contrary
4-First, ............ the ruler and the middle of the paper and then cut if straight.
1) stamp 2) align 3) confine 4) obtain
5- The more ........... your notes, the more useful they will be for revision purposes.

1) intact 2) drastic 3) extreme 4) thorough
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6- We put down some poisoned ............. to kill the rats.

1) hoax 2) bait 3) toll 4) wager
7- His time for the 100 meters ............. the previous world record by one hundredth
of a second.

1) achieved 2) estimated 3) surpassed 4) transferred
8- 1 ... remembered having met her before though | couldn't exactly
remember when.

1) vastly 2) urgently 3) stealthy 4) vaguely

9- Your organs will only be used after your death if you give your ...

beforehand.
1) consent 2) credit 3) conduct 4) comment
10- If you join the discussion, made sure that what you say is ............. ; we don't

have time to waste on side issues.

1) intact 2) constant 3) relevant 4) sufficient



Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or

(4) best fits each blank. Then mark your answer your answer sheet.

To encourage the bees to produce as much money as possible, the beekeepers open the

hives and stack extra boxes called supers on top. These temporary hive ...(11)... contain

frames of empty comb for the bees to fill with honey. In the brood chamber below, the
bees will stash honey to eat later. To prevent the queen from crawling up to the top

..(12)... eggs, a screen can be inserted between the brood chamber and the supers.

There weeks later the honey can be gathered. Foul smelling chemicals are often used
to irritate the bees and drive them down into the hive's bottom boxes, leaving the
honey — filled supers more or less bee free. These can then be pulled off the hive. They

are heavy ...(13)... honey and may weigh up to 90 pounds each. The supers are taken to

a warehouse, In the extracting room the frames are lifted out and lowered into an

‘uncapper' where rotating blades ..(14).. away the wax that covers each cell. The

uncapped frames are put in a carousel that sits on the bottom of a large stainless steel

drum. The carousel is filled to capacity with 72 frames. A switch is ...(15).. and the

frames begin to whirl at 300 revolutions per minute; centrifugal force throws the

honey out of the comb. Finally the honey, is poured into barrels for shipment.



11-

1) aspects 2) categories 3) outcomes 4) extensions
12-

1) laid 2) which lays 3) and to lay 4) and laying
13-

1) of 2) off 3) with 4) from
14-

1) retain 2) shave 3) obtain 4) emerge
15-

1) flipped 2) imposed 3) contrasted 4) conflicted

Part C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing

the best choice. Then mark the correct choice on your answer sheet.
Passage One:

Many people believe they have a food allergy or intolerance and exclude particular
foods from their diet. If this applies to just one or two specific foods, or if you can
substitute another similar food in its place, such as rice instead of potatoes, or pears

instead of apples, your diet is unlikely to suffer. However, you shouldn't exclude whole
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food groups, staple food items such as bread or meat from your diet, or long lists of
different foods. Without first speaking to a doctor or dietician.

One of the dangers of self-diagnosing food intolerances, especially in children, is that it
can lead to very restricted diets that may lack important nutrients. Children with
suspected food intolerances should always see a dietician to ensure they're consuming
enough to meet all their nutritional needs. Children are often fussy eaters at the best of
times. So you shouldn't add to the difficulties by excluding a food without good reason.

16- Which of the following does the author emphasize that not be omitted from

one's diet before Consulting with an expert?

1) Fruit 2) Meat 3) potatoes 4) Rice

17- the word "staple” in line 5 is closest in meaning to ............ .

1) particular 2) nutritive 3) chief 4) common

18- The word "it" inline 9 referto ............ )

1) danger

2) diet

3) self- diagnosing food intolerances

4) exposing children to certain foods
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19- According to the passage, when you exclude a food from a child's diet ............ :

1) they may become fussy about food

2) you may cause them to become weak

3) they may make them develop food intolerances

4) you may add to your handling of their eating

20- What is the author's attitude towards dieticians?

1) Favorable 2) Critical 3) Subjective 4) Skeptical

Passage Two:

Another increasingly common approach to weight loss is eating more protein and less
carbohydrate. One widely publicized high- protein diet entails loading up on meat,
cheese, fish, and eggs while dramatically cutting down or even eliminating
carbohydrates. This may help you drop some pounds. But the long-term effects of this
eating strategy-on weight as well as overall health.. aren't yet clear. Limiting
carbohydrates can help avoid sharp spikes in blood sugar and insulin levels, and
equally sharp declines in blood sugar. Keeping blood sugar at a relatively steady level
may dampen the appetite. However, many high-proteins, low carbohydrate diets, are
full of saturated and trans fats. These could significantly increase the risk of heart
disease regardless of any actual weight loss. A  restrictive

high -protein, low-carbohydrate diet may also limit the consumption of important
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vitamins, minerals, and other nutrients found in banned carbohydrates such as fruits,
vegetables, and whole grains.

Emerging evidence suggests that a more balanced approach that includes protein,
carbohydrates, and fats has value as a weight-loss strategy. In a study conducted at

Duke University, 51 healthy but overweight or obsess volunteers were placed on a diet

that included no more than 25 grams of carbohydrate day, but that put no daily limit

on
calories. They also received counseling and support on nutrition and exercise. After six

months, 41 of the volunteers were still following the program. This is a higher

percentage than usually seen with people on low-fat diets. Mean body weight

decreased 10,3 percent (or approximately 20 pounds) and the mean percentage of body

weight that was fat decreased 3 percent. Cholesterol levels improved across the board,

with decreases in LDL and triglycerides and increases in HDL.

21- What does paragraph preceding this passage most probably discuss?

1) A way to lose weight

2) The importance of a balanced diet

3) The relationship between obesity and eating carbohydrates

4) The reason why people are getting fat in modern times
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22- The word "entails" in line 2 is closest in meaning to ........... .

1) involves 2) necessitates

3) evolves 4) recommends

23- The writer implies that the eventual effect of avoiding consuming

carbohydrates on one's health is .........

1) clear 2) positive

3) unpredictable 4) negative

24- The word "dampen™ in line 8 is closest in meaning to .............

1) sharpen 2) influence

3) correlate with 4) recommends

25- What does paragraph 2 mainly discuss?

1) Disadvantages of high- protein, low carbohydrates diets

2) Ways to sharpen one's appetite

3) The negative effect of saturated and trans fats

4) Risks associated with any weight loss program



26- The word "these" in line 9 refers to ............. .
1) diets
2) fats
3) protein and carbohydrate
4) the points already mentioned in the same paragraph

27- The author indicate that all of the following are rich in protein EXCEPT

1) whole grains 2) cheese 3) fish 4) eggs
28- The study described in paragraph 3 is intended to prove that

1) many people stop their weight- loss program

2) receiving counseling and exercising are important

3) an weld4fit-loss program should include not just one variable

4) obese people can get rid of their extra pounds if they persist
29- How many people did NOT continue with the weight-loss strategy described
in paragraph 3?

1) 10 2) 25 3) 41 4) 51

30- The author's attitude toward the subject of paragraph 3 could best described

as ... .

1) critical 2) unfavorable 3) subjective 4) persuasive
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Part A: Vocabulary and Grammar

Direction: Choose the number of the answer (1), (2), (3), or (4) that best

completes the sentence. Then mark your choice on your answer sheet.

1- We have ........... all the latest safety features into the design so there is no need

to worry about the project on that count.

1) derived 2) consisted
3) comprised 4) incorporated
2- She's working for an overseas ........... of the company and earning a huge

salary for an employee of her experience.

1) authority 2) accessory
3) subsidiary 4) supplementary
3- Many experts ............. Rewarding your child for good behavior but few would

suggest punishment for bad behavior.

1) amend 2) acquire 3) attribute 4) advocate

4- Malnutrition in the region is quite ............ affection up to 77% of children under

five.

1) conflicting 2) widespread 3) inconsistent 4) obligatory
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5- The explosion was of such ............ that it was heard five miles away; it

smashed shop windows all around the area.

1) intensity 2) deviation 3) enthusiasm 4) complement

6- Like any other activity, there are risks .............. in almost every sport, even in

the so-called safe sports.

1) inherent 2) possessive 3) proportional 4) foundational
7- Some children ... a complete transformation when they become
teenagers.

1) evolve 2) compile 3) generate 4) undergo
8- Yououghtto ............. tilt the lights were green before crossing the road if you

wanted to avoid the accident.

1) be waiting 2) waiting 3) be waited 4) have waited

9- He went up the mountain with a group of people, few of ............... were correctly

equipped for such a climb.

1) them 2) those 3) whom 4) which

10- You know ............. that it is impossible to pass the interview without good

communication skills.

1) too good 2) well enough 3) very good 4) too well



Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or

(4) best fits each blank. Then mark your choice on your answer sheet.

Rescue teams in Vietnam are racing ...(11)..... tens of thousands of people to safety
ahead of rising flood-waters ...(12)... the expectation of further rainfalls. Officials say up
to seven million people in Vietnam ...(13)... severe food shortages as the area copes
..(14)... the worst flooding in decades. Officials say more than 400 people are dead,

..(15)... the government has ordered all military personnel to help with rescue efforts.

11-
1) move 2) to move 3) for moving 4) movement
12-
1) or 2) and 3) as soon as 4) no sooner
than
13-
1) face 2) facing 3) that face 4) are faced
14-
1) to 2) by 3) with 4) over
15-

1) while 2) that 3) which 4) so that
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Part C: reading Computer

Direction: Read the following three passages and choose the best choice (1), (2),

(3), 0or (4). Then mark it on your answer sheet.

Improperly canned foods are also subject to spoilage by bacteria, yeasts, and molds.

Bacteria such as Bacillus and Clostridium are of particular significance in the canning

industry because of the high level of resistance that their spores possess. One example
of microbial spoilage of canned foods is "sulfide spoilage” caused by C. nigrificans, in
which contents are blackened and have the odor of rotten eggs. Another example is
called "flat sour” in which the spoiled product has an abnormal odor, a cloudy
appearance, and a sour taste owing to its lowered pH. Putrefaction caused by C.
sporogenes may cause a can to swell and burst, releasing its partially digested
contents

and a putrid odor.

16- The word "subject” in line | is closest is meaning to ............. :
1) ended 2) resulting
3) vulnerable 4) abundant
17- Which of the following does the passage refer to as being important in the

canning industry?

1) Spores 2) Sulfide spoilage

3) clostridium 4) C. nigrificans



18- The word "its" in line 7 refers to .............
1) product 2) odor
3) pH. Putrefaction 4) sour taste

19- Which of the following happens just before a spoiled “"canned food" gives out

what it contains?

1) The food contents swell.

2) pH Putrefaction is reduced.

3) The contents are already digested.
4) The can suddenly splits open.

20- All of the following are used in the organization of the passage EXCET ........... .

1) cause- effect 2) appeal to authority

3) comparison 4) exemplification

Dehydration, or drying, of foods has long practiced commercially in the production of
spaghetti and other starch products. As a result of advances made during World War
I1, the technique has been applied to u growing list of food products, including fruits,

vegetables. Skim milk, potatoes, soup mixes, and meats.
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Pathogenic (toxin- producing) bacteria occasionally withstand the unfavorable
environment of dried foods, causing food poisoning when the product is rehydrated
and eaten. Control of bacterial contaminants in dried foods requires high-quality raw
materials having low contamination, adequate sanitation in the processing plan,
pasteurization before drying, storage conditions that protect from infection by dust,
insects, and rodents or other animals.

Foodstuffs may be dried in air, superheated steam, vacuum, or inert gas or by direct
application of heat. Air is the most generally used drying medium. because it is
plentiful and convenient and permits gradual drying, allowing sufficient control to
avoid overheating that might result in scorching and discoloration. Air may be used
both to transport heat the food being dried and to carry away liberated moisture
vapor. The use of other gases requires special moisture recovery systems.

21- Paragraph 2 could best be described as involving ............. :

1) a problem and its solution

2) a cause and its effects

3) The characteristics of the unfavorable environment of dried foods

4) Sanitary steps which are to be taken to safely process foods in plants



22- Dehydration of starchy foods ........... .
1) has a long history
2) began during World war 11
3) has just gained commercial value
4) scorching and discoloration
23- The word "withstand" in tine 5 is closest in meaning to ................ :
1) contain 2) develop
3) ruin 4) resist
24- The author states that air is the most generally drying medium because it

has all of its following features EXCEPT ...............

1) abundance
2) convenience
3) making gradual drying possible
4) scorching and discoloration
25- The word "that" in line 13 refers to ............... .
1) control 2) drying 3) overheating 4) air

Many substances of considerable economic value are products of microbial

metabolism. From an industrial viewpoint the substrate may be regarded as a raw
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material and the microorganism as the "chemical factory" for converting the raw
material into new products. If an organism can be shown to convert inexpensive raw
material into a useful product, it may be feasible to perform this reaction on a large
industrial scale if the following conditions can be met.

1- The organism.

The organism to be employed (a virus, bacterium, yeast, or mold) must have the
capacity to produce appreciable amounts of the product. It should have relatively
stable characteristics and ability to grow rapidly and vigorously, and it should be
nonpathogenic.

2- The medium.

The medium, including the substrate from which the organism produces the new
product, must be cheap and readily available in large quantities.

3- The product.

A feasible method of recovering and purifying the desired end product must be
developed. Industrial fermentations are performed in large tanks, some with

capacities of 190.000 liters (50.000 gallons) or more. The product formed by the

metabolism of the microorganism must be removed from a heterogeneous mixture
that also includes a tremendous crop of microbial cells and unused constituents of the
medium, as well as products of metabolism other than those being sought. Traditional
products of industrial microbiology are antibiotics, vaccines, vinegar, and

miscellaneous chemicals such as acetone and butyl alcohol.



26- What does the author compare the substrate to?

1) Chemical factory 2) Microorganism

3) Products 4) Raw material

27- The word ‘converting' in line 3 is closest in meaning to ............. .

1) Taking 2) turning

3) getting 4) carrying

28- Producing useful products from raw materials depend, taking industrial

concerns into account,on .........

1) the organism used

2) three variables

3) the type of the raw material used

4) the nature of the reaction

29- The word "miscellaneous” in line 23 is closest in meaning to ............ .

1) insignificant 2) secondary

3) various 4) better
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30- Which one of the following best represents the author’s attitude towards the

topic of the passage?

1) Unfavorable 2) Skeptical

3) Promotional 4) Objective
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S 4AS 900
Part: Vocabulary

Direction: Choose the number of the answer (1). (2), (3), or (4) that best

completes the sentence. Then mark your choice on your answer sheet.

1- This decision marks another change of direction in the ........... of the country's

education policy.

1) evolution 2) deduction 3) transmission 4) generation
2- The newspaper reportdid not ............ how the men were killed.
1) assign 2) debate 3) assume 4) specify
3- Children inevitably suffer problems of ............. to their parents' divorce.
1) controversy 2) adjustment 3) appreciation 4) compensation

4- Although she had been ill for a long time, it still came as a shock when she

............. died.
1) randomly 2) reluctantly 3) eventually 4) specifically
5- The police department ............. that the number of violent crimes will increase

this year by about 15%.
1) imposes 2) advocates 3) estimates 4) identifies
6- The city's population .............. mainly Asians and Europeans.

1) compiles 2) deviates 3) comprises 4) eliminates
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T- dictates that it is the man who asks the woman to marry him and not
the reverse.

1) Foundation 2) Convention 3) Constitution 4) Orientation
8- To secure our future, we need a(n) .......... economic strategy for the nineties.

1) ultimate 2) considerate 3) imminent 4) consistent
9- There is no doubt that the Italian ........... of the play sounds better than the
English one.

1) version 2) equation 3) appendix 4) document
10- Crude oil is industrially ................. to purify it and separate out the different
elements.

1) refined 2) modified 3) converted 4) condensed

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or

(4) best fits each blank. Then mark your choice on your answer sheet.

Boyd is producing a film documentary that will present Randall's biography ...(11)...

his poetry. Randall served as general editor of the Press ...(12)... 1965 to 1977. In the

mid-seventies, printing costs and the closing of many small bookstores...(13)... he had
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extended credit ...(14)... the Press in financial straits. Boyd hopes her documentary on

Randall ...(15)... more people to African American literature.

11-

1) or

3) as well as

12-

1)in

3) during

13-

1) that

3) from whom

14-

1) left

3) was leaving

15-

1) introduces

3) isintroducing

2) despite

4) in addition

2) from

4) between

2) where

4) to which

2) had left

4) would have left

2) will introduce

4) would introduce



Part C: Reading Comprehension

Direction: Read the following wine there passages and choose the best choice (),

(2), (3), 0r (4). Then, mark it on your answer sheet.

PASSAGE 1:

Shelf life is different from expiration date; the former relates to food quality, the latter
to food safety. A food that has passed its shelf life is still safe, but optimal quality is no
longer guaranteed. In most food stores, shelf life is maximized by using stock rotation,
which involves moving products with the earliest sell by date to the front of the shelf;
meaning that most shoppers will pick them up first and so getting them out of the
store. This is important, as some stores can be fined for selling out of date products,
and most if not all will have to mark such products down as wasted, leading to a loss of
profit. Shelf life is most influenced by several factors: exposure to light and heat,
transmission of gases (including humidity), mechanical stresses, and contamination by
such things as micro organisms. Product qualify is often mathematically modeled
around a single parameter (concentration of a chemical compound, a microbiological
index, or a physical parameter), though this approach can miss relevancy.

Under some circumstances, the shelf life is critical to health. Some medicines begin to
deteriorate (e.g. in potency) or begin to accumulate toxic breakdown products

immediately after manufacture or packaging. Depending on the material involved, this



L

can be dangerous to life. Bacterial contaminants are ubiquitous, and foods left unused

4|\

too long will often acquire substantial amounts of bacterial colonies and become
dangerous to eat.

16- The passage states that ............ .
1) food safety depends to a large extent on food quality
2) expiration date is another form of shelf life
3) shelf life is not a matter of food safety

4) the is little quality in a food with passed shelf life

17- It is mentioned in the passage that .......... :
1) out of date products do not have to be marked as such in all stores
2) most shoppers are interested in products with an early sell by date
3) stock rotation is maximized in food stores by moving products
4) there is often a loss of profit in selling wasted products
18- Which of the following is TRUE according to the passage?
1) single parameters are in most cases the basis of a chemical compound.
2) we can sometimes approach the relevancy of product quality
3) transmission of gases is the most important factor affecting shelf life

4) product quality can be mathematically modeled around a physical parameter



19- The passage refers to the fact that ............ :

1) it's often dangerous to eat food left unused for too long

2) shelf life is an important index of our health

3) packaging can immediately affect shelf life

4) the materials involved in a food usually damage its content

20- The word 'ubiquitous' in line 17 is best related to the conceptof ............

1) 'number’ 2)'place’ 3)'harm’ 4)'saib4’

PASSAGE 2:

Pickling, or corning, is the process of preserving food by anaerobic fermentation in bring
(a solution of salt in water), to produce lactic acid, or marinating and storing it in an
acid solution, usually vinegar (acetic acid). The distinguishing feature is called a pickle.
This procedure gives the food a sour taste that is satisfying to most pickle buyers. The

distinguishing feature is a pH less than 4,6, which is sufficient to kill most necrobacteria.

Pickling can preserve perishable foods for months. Antimicrobial herbs and spices, such
as mustard, garlic, cinnamon or cloves, are often added. If the food contains sufficient
moisture, pickling brine may be produces simply by adding dry salt. For example,
sauerkraut and Korean kimchi, are produced by salting the vegetables to draw out
excess water. Natural fermentation at room temperature, by lactic acid bacteria
produces the required acidity. Other pickles are made by placing vegetable in vinegar.

Unlike the canning process, picking which includes fermentation requires that the food
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not be completely sterile before it is sealed. The acidity or salinity of the solution me
Temperature of fermentation and the exclusion of oxygen determine which
microorganisms dominate, and determine the flavor of the end product. When both salt
concentration and temperature are low Leuconostoc Mesenteroides dominates,
producing a mix of acids, alcohol, and aroma compounds. At higher temperatures
Lactobacillus plant arum dominates, which produces primarily lactic acid. Many pickles

start with Leuconostoc, and change to Lactobacillus with higher acidity.

21- Itis stated in the passage that ........... .
1) most necrobacteria grow in the process of brine fermentation
2) on acid solution is usually marinated or stored in vinegar
3) lactic acid is the result of anaerobic fermentation in brine
4) a pH less than 4,6 distinguishes the sufficiency of pickles
22- The passage mentions that .......... :
The Korean Kimchi has some excess water aller salting vegetables
2) dry salt can produce sufficient moisture in most foods.
3) cinnamon or cloves are often added to antimicrobial herbs

4) lactic acid bacteria do not need high temperatures for fermentation



23- Which of the following is TURE according to the passage?
1) Oxygen can cause the domination of microorganisms in pickling
2) The taste of pickles may depend on the temperature of fermentation
3) Vegetables need to be properly sealed before they are pickled
4) Acidity is essential to the development of canning process
24. The passage points to the fact that .............. :
1) The domination of Leuconostoc Mesenteroids is due to a mix of acids
2) Lactobacillus plant arum can produce lactic acid even in low temperatures
3) The performance of Leuconostoc Mesenteroids depends partly on low salt concentration

4) Acids, alcohol and aroma compounds can only work at higher temperatures

25- The word ‘perishable’ in line 6 is best related to the ............... of foods.
1) 'taste’ 2) ‘decay" 3) ‘color’ 4)'storage’
PASSAGE 3:

An emulsifier (also known as an emulgent) is a substance which stabilizes an emulsion,
frequently a surfactant. Examples of food emulsifiers are egg yolk (where the main
emulsifying chemical is the phospholipid lecithin), and mustard, where a variety of
chemicals in the mucilage surrounding the seed hull act as emulsifiers; proteins and

low-molecular weight emulsifiers are common as-well. In some cases, particles can
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stabilize emulsions as well through a mechanism called Pickering stabilization. Both
mayonnaise and hollandaise sauce are oil-in-water emulsions stabilized with egg yolk
lecithin. Detergents are another class of surfactant, and will chemically interact with
both oil and water, thus stabilizing the interface between oil or water droplets in
suspension. This principle is exploited in soap to remove grease for the purpose of
cleaning. A wide variety of emulsifiers are used in pharmacy to prepare emulsions such
as creams and lotions. Whether an emulsion turns into a water-in-oil emulsion or an
oil- in-water emulsion depends on the volume fraction of both phases and on the type
of emulsifier. Generally, the Bancrorft rule applies: emulsifiers and emulsifying
particles tend to promote dispersion of the phase in which they do not dissolve very
well; for example proteins dissolve better in water than in oil and so tend to form oil-
in-water emulsions (that is they' promote the d:spersion of oil droplets throughout a
continuous phase of water).

26- The passage mentions ............ .
1) proteins are low-molecular emulsifier
2) mustard is a kind of mucilage emulsifier
3) a surfactant is a kind of an emulgent

4) egg yolks contain phospholipids lecithin



27- Itis stated in the passage that ..............

1) detergents stabilize the interface between oil and water in suspension

2) Pickering stabilization can stabilize particles

3) oil-in-water emulsions are made up of lecithin

4) detergents stabilize oil and water through surfactants

28- Which of the following is TRUE according to the passage?

1) Mayonnaise and hollandaise sauce are stabilized by Pickering

2) Creams and lotions are emulsions prepared from emulsifiers

3) Grease is usually removed from soap in the process of cleaning

4) Water-in-oil emulsions are different from oil-in-water emulsions

29- The passage refers to the fact that ............ .

1) proteins do not dissolve so well in oil as in water

2) oil-in-water emulsions are found in the continuous phase of water

3) the Bancroft rule promotes the dissolution of particles

4) emulsifiers and emulsifying particles may dissolve in water

30- The word 'hull"in line 4 is best related to a kind ofa .......... .

1) ‘root’ 2)'extract’ 3)'cover’ 4) 'center’
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Part A: Vocabulary

Directions: choose the word or phrase (1), (2), (3), or (4) that best completes

each sentence. Then mark the correct choice on your answer sheet.

1- The rise in unemployment was just a further ... of the government's
incompetence.
1) inclination 2) approximation  3) modification 4) manifestion
2- The country's most valuable agricultural .............. include wheat and rice.
1) revenues 2) attributes 3) proportion 4) commodities
3- These changes are a(an) ............ to wide-ranging reforms.
1) prelude 2) allocation 3) schedule 4) implication

4- Honesty is a very attractive character ............. :

1) trait 2) prospect 3) conviction 4) outcome
5- The driver was found guiltyon ............ the speed limit.

1) pursuing 2) enhancing 3) exceeding 4) surpassing
6- The members of the committee will be ............ on October 25.

1) restoring 2) locating

3) convening 4) accompanying



7- The region needs housing which is strong enough to

storms.

1) object

8- Two decades ........

of the dam.

1) overlapped

3) transferred

2) recline

3) diminish

[ —

severe wind and

4) withstand

between the completion of the design and the operation

2) intervened

4) overwhelmed

9- The ... goal of this research is to gather data on the process of first

language acquisition.

1) principal

3) continual

10- Flexibility is ..........

1) intrinsic

3) forthcoming

2) successive

4) insightful

to creative management.

2) compatible

4) contemporary
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Part B: Grammar

Direction: Read the following passage and decide which choice (1), (2), (3), or (4)

best fits each space. Then mark the correct choice on your answer on your

answer sheet.

The computer evolved from mechanical calculating machines that could do arithmetic

by having cogs and levers that turned moved ...(11)... ,numbers. The first one was built

by the French inventor Blaise Pascal in 1642. Pascal's calculating machine was

improved over the next 200 years, and in 1833 the British mathematician Charles

Babbage designed a machine ...(12).. be "programmed" to carry out different

mathematical operations. This machine was called the Analytical Engine. It ...(13)... to

have the mechanical equivalent of the input, processing, memory, and output units

found in today's electronic computers. Over a hundred years ..(14).. in 1944, a

mechanical computer, powered by electricity, was completed in the United States on

Baddage's principle ...(15)... in the previous year, the first electronic computer had

been built in Britain. It was called Colossus and was used to crack enemy codes during
World War II.

11-

1) representing 2) to represent

3) for representing 4) from representing



12-

1) which can 2) that cloud

3) where it can 4) where it cloud
13-

1) meant 2) was meant

3) had the meaning 4) was the meaning
14-

1) subsequent 2) next

3) later 4) following
15-

1) since then 2) Therefore

3) However 4) Afterwards

PART C: Reading Comprehension

Direction: Read the following three passages and choose the best choice (1), (2),

(3),0or (4).Then mark it on your answer sheet.

Milking machines are used to harvest milk from cows when manual milking becomes
inefficient or labor intensive. The milking unit is the portion of a milking machine for

removing milk from an udder. It is made up of a claw, four teacups, long milk tub,
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pulsator. The claw is an assembly that connects the short pulse tubes and short milk
tubes from the teacups from the teacups to the long pulse tube and long milk tube.
Claws are commonly made of stainless steel or plastic or both. Teacups are composed
of a rigid outer-shell (stainless steel or plastic) that holds a soft inner liner or inflation.
Transparent section in the shell may allow viewing of liner collapse and milk flow. The
annular space-between the shell and liner is called the pulse chamber. Milking
machines work in a way that is different from hand milking or calf suckling.
Continuous vacuum is applied inside the soft liner to massage milk from the teat by
creating a pressure difference across the teat canal (or opening at the end of the teat).
Vacuum also helps keep the machine attached to the cow. The vacuum applied to the
teat causes congestion of teat tissues.

Atmospheric air is admitted into the pulsation chamber about once per second (the
pulsation rate) to allow the liner to collapse around the end of teat and relieve
congestion in the teat tissue. The ratio of the time that the liner is open (milking
phase) and closed (rest phase) is called the pulsation ratio. The four streams of milk
from the teatcups are usually combined in the claw and transported to the milk line, or
the collection bucket in a single milk hose.

16- It is stated in the passage that .......... :

1) the claw links the short and long pulse tubes

2) a milking machine may have up to four claws

3) milking is removed from the udder in one portion

4) manual is often not efficient enough



17- The passage points to the fact that, in machine milking .......... .

1) an inflation is the rigid outer shell of a teacup

2) stainless steel claws are faster than plastic claws

3) teat tissue should not stay congested for too long

4) milking process is closely modeled on hand milking

18- The passage mentions that in milking machines ........... :

1) we may be able to see the inside of a teacup

2) the pulse chamber is made of the shell and liner

3) milk hose sticks to the milk line for milk collection

4) The machine is attached to the teats mainly through vacuum

19- The passage states that machine milking ............. :

1) there are four teaching in the claw

2) the liner is opened and closed by turns

3) there is always some air in the pulsation chamber

4) massage around the teats creates continuous vacuum
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20- The "annular’ space mentioned in the passage (underlined) is shaped like a

1) *circle" 2) ' triangle’ 3) 'cone’ 4) ' square'

The freezing process tends to degrade the taste of food, and the meals are thus heavily
processed with extra salt and fat to compensate. In addition, stabilizing the product for
a long period typically means that companies will use partially hydrogenated vegetable
oils for some items, which are high in trans fats that can adversely affect cardiovascular
health. Frozen dinners are almost always significantly less nutritious than fresh food,
and are formulated to remain edible after long periods of storage, thus often requiring
preservatives such as BHT. Many times when frozen dinners are put into the microwave,
part of the meal is frozen and another part extremely hot (this can be solved by

decreasing the power to 30-40% and increasing cooking time proportionately). in recent

years there has been-a push by a number of independent manufacturers and retailers to
make meals that are low in salt, fat and free of artificial additives, and some companies

market to the health-conscious niche. Most supermarkets also produce their own

"healthy eating” brands. Nearly all chilled or frozen ready meals sold are now clearly
labeled with the salt, sugar and fat content and the recommended daily intake. Concern
about obesity and government publicity initiatives have encouraged manufacturers to
reduce the levels of salt and fat in ready prepared food. A benefit of frozen dinners is
that they are usually fully cooked during preparation, and only need to be reheated by

the consumer. This eliminates the possibility of undercooking by misjudging microwave
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power and cooking times. More recently, however, frozen dinners have been created
that are designed to be used as a steamer, allowing rapid cooking of essentially raw
ingredients immediately before consumption.

21- Which of the following about frozen dinners is TRUE?
1) They are salty and fatty to become stabilized.
2) They do not need to be cooked to be eaten.
3) They should be consumed a short time after purchase.
4) They mostly use hydrogenated vegetable oils to taste good.
22- The passage points to the fact those frozen foods ........... :
1) depend on BHT to be edible
2) can rarely be undercooked today
3) are less expensive than fresh foods
4) should be heated at least twice before eating
23- We may understand from the passage that ................. .
1) microwave ovens kill the taste of frozen food
2) many people avoid eating readymade frozen food
3) some frozen foods today are sold practically uncooked

4) costumers today can control the amount of fat in frozen food .
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24- The word 'niche’ in the passage (underlined) best refersto (a) ............ .

1) 'rich consumers' 2) 'individuals with the same taste
3) 'healthy and fit individuals' 4)'special area of demand’

25- The passage is mainly about ............ .

1) how frozen foods are processed

2) advantages of fresh food over frozen food

3) high levels of salt and fat in frozen food

4) health concerns relating to frozen foods

In machine-assisted wet processing of coffee, fermentation is not used to separate the
bean from the remainder of the pulp; rather, this is done through mechanical scrubbing.
This process can cut down on water use and pollution since ferment and wash water
stinks. In addition, removing mucilage by machine is easier and more predictable than
removing it by fermenting and washing. However, by eliminating the fermentation step
and prematurely separating fruit and bean, mechanical demucilaging can remove an
important tool than mill operators have of influencing coffee flavor. Furthermore, the
ecological criticism of the ferment-and-wash method increasingly has become moot,
since a combination of low-water equipment plus settling tanks allows conscientious
mill operators to carry out fermentation with limited pollution. Any wet processing of

coffee produces coffee wastewater which can be a pollutant. Around 130 liters of fresh

water is required to process one kilogram of quality coffee. After the pulp has been
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removed what is left is the bean surrounded by two additional layers, the silver skin and
the parchment. The beans must be dried to water content to a water content of about

10% before they are stable. Coffee beans can be dried in the sun or by machine but in

most cases it is dried in the sun to 12-13% moisture and brought down to 10% by machine.

Drying entirely by machine is normally only done where space is at a premium or the
humidity is too high for the beans to dry before mildewing. When dried in the sun coffee
is most often spread out in rows on large patios where it needs to be raked every six
hours to promote even drying and prevent the growth of mildew.

26- The passage mentions that in machine-assisted wet processing of coffee

1) mucilage is removed by machine

2) ferment and wash water have a bad smell

3) coffee bean and pulp are both fermented

4) mechanical processing replaces pulp separation

27- The passage points to the fact that ........... .

1) mechanical scrubbing often ends up in better tasting coffee

2) mechanical demucilaging is cheaper that hand fermentation

3) ferment-and wash method takes longer with settling tanks

4) taste of coffee is greatly affected by the way it is fermented
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28- Itis stated in the passage that .......... :
1) removal of the bean pulp not affects parchment as well
2) beans should be free of moisture in order to become stable
3) beans are not usually dried only by machines to become stable

4) one kilogram of coffee pollutes around 130 liters of freshwater

29- We understand from the passage that ............. iIs not desirable in coffee
processing.
1) asilver skin 2) mechanical scrubbing

3) mildew formation 4) pulp stability

30- The word 'moot’' in the passage (underlined) is best related to the word

1) 'safety’ 2) 'technique’

3) 'pollution’ 4) ‘argument’
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Part A: Vocabulary

Directions: Choose- the word phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark the correct choice on your answer sheet.

1) The two lawyers ............ their contract and each opened a separate office.
1) resigned 2) hindered 3) terminated 4) penalized
2- The police ordered the robbers to .......... their weapons.
1) cease 2) settle 3) collapse 4) Surrender
3- The nation's economy was largely ......... by foreign aid.
1) imported 2) sustained 3) accompanied 4) disposed
4- Unfortunately the current law ............ any improvement in the country's trade

with foreign countries.

1) impedes 2) compels 3) abstains 4) exposes

5- They are using that hall to hold their party ........... .

1) juncture 2) convention 3) circumstance 4) intersection

6- Talking about money now would be a........ from the main purpose of this meeting.

1) digression 2) detention 3) dispersion 4) disputation
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7- There have been calls for the drug’s immediate ............ following reports that

it has dangerous side effect.

1) protest 2) discharge 3) suspension 4) disposition

8- I have not read any of the previous chapters of this book, so you will have to

givemeabrief .............

1) outlook 2) synopsis 3) prospect 4) panorama
9- Practical experienceisan ............ part of this course.

1) integral 2) adequate 3) expository 4) accelerated
10- Some of these plants are more ............ to frost damage than others.

1) inherent 2) forthcoming 3) instrumental 4) susceptible

Part B: Cloze Test

Direction: Read the following passage and decide which choice (1), (2), (3), or (4) best
fits each space. Then mark the correct choice on your answer sheet.
We have said earlier that climates are continuously changing ...11...until quite recently

that climates only, changed significantly on very long time scales, over tens of

thousands of years. In the more recent past the changes in climate ... 12... are a result

of mankind's own activities. Scientists have been able to reconstruct accurately the
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average temperature of the Earth ...13... year using millions of individual thermometer
readings ...14... world.

The result seems to suggest that since the end of the 19t century the Earth has
warmed up by about 0,5°C (1°F). The warmest years all occurred in the 1980s. Although
it is not yet known for certain ..15... explanation for this global-scale warming is the

increasing volume of pollutant gases that mankind is releasing into the atmosphere.

11-
1) There thought 2) It was thought
3) There has been thought 4) It has been thought
12-
1) we have seen 2) we saw them
3) that saw them 4) that have seen
13-
1) over 100 last 2) across 100 last
3) across the last 100 4) over the last 100
14-

1) of around 2) from around

3) from around the 4) of around the



1) likely most 2) most likely

3) likely the most 4) the most likely

Part C: Reading Comprehension

Directions: Read the following passage and decide which choice (1), (2), (3), or

(4) best fits each space. Then mark in on occur answer sheet.

Caramel color or caramel coloring is a soluble food coloring. It is made by a carefully
controlled heat treatment of carbohydrates, generally in the presence of acids, alkalis,
or salts, in a process called caramelization. It is more fully oxidized than caramel
candy and has an odor of burnt sugar and a somewhat bitter taste. Its color ranges
from pale yellow to amber to dark brown. Caramel color is one of the oldest and most
widely-used food colorings, and is-found in almost every kind of industrially produced
food. Caramel color molecules carry either a positive or negative charge depending
upon the reactants used in their manufacture. Problems such as precipitation,
flocculation or migration can be eliminated with the use of a properly charged
caramel color for the intended application. Caramel color is a colloid. Although the
primary function of caramel color is for coloring, it also serves additional functions. In
soft drinks, it functions as an emulsifier to help retard the formation of certain types of
"floc" and its light protective quality can aid in preventing oxidation of the flavoring

components in bottled beverages. Caramel color has excellent microbiological
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stability. Since it is manufactured under very high temperature, acidity, pressure, and
specific gravity, it is essentially sterile as it will not support microbial growth unless in
a diluted solution.

16- The passage mentions that ......... :
1) burnt sugar has an extremely bitter taste
2) carbohydrates are present in acids, alkalis and salts
3) soluble food colorings are caramel colors
4) caramel candy and color differ in oxidisation lever
17- The passage points to the fact that ............
1) caramel color has only been recently developed
2) caramel color is not used mainly for preventing oxidation
3) industrially produced foods use mostly caramel color
4) caramel molecules carry both positive and negative charges
18- The passage the fact that ............. .
1) bottled beverages have a light protective quality
2) certain types of caramel color can support microbial growth
3) precipitation is a major application of caramel color

4) caramel color's microbiological stability reads to high, temperatures
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19- A colloid mentioned in the passage (underlined) is a type of chemical mixture

inwhich ..........

1) two substances remain unmixed within the mixture

2) there is a difference between the colors in the same mixture

3) one substance is distributed evenly throughout another

4) there is clearly uneven distribution of a substance within another

20- The color 'amber' mentioned in the passage (underlined) is closest to ............. .

1) ‘brown’ 2) 'grey’

3) ‘green’ 4) '‘purple’

Shelf life is different from expiration date; the former relates to food quality, the latter to
food safety. A product that has passed its shelf life might still be safe, but quality is no
longer guaranteed, In most food stores, shelf life is maximised by using stock rotation,
which involves moving products with the earliest sell by date to the front of the front of
the shelf, meaning that most shoppers will pick them up first and so getting them out of
the store. This is important, as some stores can be fined for selling out of date products,
and most if not all will have to mark such products down as wasted, leading to a loss of
profit. Shelf life is most influenced by several factors, exposure to light and heat,
transmission of gases (including humidity), mechanical stresses, and contamination by

things such as micro organisms. Product quality is often mathematically modeled
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around a parameter (concentration of a chemical compound, a microbiological index,
or moisture content). For some foods, the shelf life is an important factor to health.
Bacterial contaminants are ubiquitous, and foods left unused too long will often acquire
substantial amounts of bacterial colonies and become dangerous to eat, leading to food
poisoning. However, the shelf life itself is not an accurate indicator to the food safety.
For example, pasteurized milk can remain fresh for five days after its sell-by date if it is
refrigerated properly. In contrast, if milk already has harmful bacteria, the use-by dates
become irrelevant. The expiration date of pharmaceuticals specifies the data the
manufacturer guarantees the full potency and safety of a drug. Most medications are

potent and safe after the expiration data.

21- Itis stated in the passage that ............ .
1) food safety and shelf life i-relate to food quality
2) the quality of shelf life can never be guaranteed
3) humidity can affect shelf life to a great extent
4) food quality was formerly a matter of shelf life
22- The passage points to the fact that .................
1) stock rotation is, in fact, the same as expiration date
2) the earliest sell by date is usually the last item to be sold
3) the front of the shell is called sell by date in most stores

4) shelf life is not an important factor to health for all foods
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23-We may understand from the passage that ..............
1) wasted products are in most cases sold at a loss to profit
2) mechanical stresses are usually harmful to microorganisms
3) out of date products are illegal to sell even if marked so
4) food quality is partly determined by microbiological indices
24- The passage mentions that ............. .
1) the use-by date in milk is important only if it is kept fresh
2) we should never consume substantial amounts of bacterial colonies
3) expiration date may not particularly apply to medicine safety
4) pasteurized milk should not be refrigerated for over five days
25- The word "ubiquitous’ in the passage is best related to ........... :

1) 'widespread’ 2) 'harmful’ 3) ‘dominant’ 4) ‘over-active'

Inverted or invert sugar syrup is a sucrose-based syrup, produced by splitting each
sucrose disaccharide molecule into its component monomers, glucose and fructose.
The splitting is achieved through the action of invertase (a glycoside hydrolase
enzyme); or an acid. Comparing solutions with the same dissolved weight of sugar,
inverted syrups are sweeter than sucrose solutions. The glucose present in inverted
sugar syrup is substantially more hygroscopic than sucrose. This means that the syrup

tends to keep products made with it moist for longer than when sucrose is used alone.
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It is likewise less prone to crystallization and therefore valued especially by bakers,
who refer to inverted sugar syrup as ‘trimoline’ or 'invert syrup'. The term ‘inverted' is
derived from the method of measuring the concentration of sugar syrup using a
polarimeter. Plane-polarized light, when passed through a, sample of pure sucrose
solution, is rotated to the right (optical rotation). As the solution is converted to a
mixture of sucrose, fructose and glucose, the amount of rotation is reduced until (in a
fully converted solution) the direction of rotation has changed (inverted) from right to
left. Inverted sugar syrup can be easily made by adding roughly one gram of citric acid

or ascorbic acid, per kilogram of sugar. Cream of tartar (one gram per kilogram) or

fresh lemon juice (10 milliliters per kilogram) may also be used. The mixture is boiled

for 20 minutes, and will convert enough of the sucrose to effectively prevent

crystallization, without giving a noticeably sour taste. Invert sugar syrup may also be
produced without the use of acids or enzymes by thermal means alone: two parts
granulated sucrose and one part water simmered for five to seven minutes will convert
a modest portion to invert sugar.

26- It is stated in the passage that ..............

1) sucrose disaccharide molecules are partly fructose

2) the dissolved weight of sugar makes sucrose solutions sweet

3) glycoside hydrolase enzymes can be easily broken

4) sucrose-base syrups produce sucrose disaccharide molecules
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27- The passage mentions that .......... .

1) does not crystallise easily 2) contains hygroscopic sucrose

3) quickly splits to sucrose 4) is much sweeter than rimoline

28- Inverted sugar syrup is developed through .............

1) sugar inversion 2) a converted solution

3) optical rotation 4) a polarimeter concentration

29- We may not produce inverted sugar syrup by the application of to ..........

sugar.
1) ' lemon juice’ 2) " trimoline '
3) 'citric acid ' 4)'only heat '

30- The cream of tartar mentioned in the passage (underlined) is used mainly

as/in.........

1) drink agent 2) sugar refinement agent

3) baking powder 4) food- packaging industry
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